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A680U20-1 Eduqas A Level Media Studies Component 2

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 5687 6.9 2.7 15 45.8 61.5
1b 5545 8.2 2.4 15 54.6 60
2a 3758 7.1 2.7 15 47.6 40.6
2b 3701 8 2.5 15 53.3 40
3a 605 7 3 15 46.5 6.5
3b 522 8.1 2.4 15 53.9 5.6
4 1692 14 6 30 46.5 18.3
5 2530 14.8 4.9 30 49.2 27.4
6 5788 14.8 5.3 30 49.3 62.6
7 1220 14.2 6.2 30 47.4 13.2
8 8701 14.7 5.3 30 48.9 94.1

If you are accessing this document in a web browser and are only able to see this single page, please download the document and re-open it in 
Adobe Reader in order to fully access the exemplar material.
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	A Level Media Studies A680U20-1
	Item Level Data
	Facility factor graph
	Section A
	Mark scheme
	Example 1 (Q1b)
	Example 1 marked

	Example 2 (Q1b)
	Example 2 marked

	Example 3 (Q2b)
	Example 3 marked


	Section B
	Mark scheme
	Example 1 (Q4)
	Example 1 marked

	Example 2 (Q4)
	Example 2 marked

	Example 3 (Q6)
	Example 3 marked


	Section C
	Mark scheme
	Example 1 (Q8)
	Example 1 marked

	Example 2 (Q8)
	Example 2 marked

	Example 3 (Q8)
	Example 3 marked
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Good k & u
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Tick



WJEC Eduqas

Sticky Note

This candidate engages explicitly with the ‘how much’ part of the question, and straightaway shows a good understanding of what the question means: the ways in which money can be made, how online content can be monetised. 



WJEC Eduqas

Sticky Note

A good understanding of relevant theory which is explained in a little more detail, and suggesting how their argument may develop. A good introduction.



WJEC Eduqas

Sticky Note

Demonstrates a good understanding of how economic factors such as advertising influence the content of both set products, as well as their layout and design.




WJEC Eduqas

Sticky Note

Confident and secure knowledge and understanding of how YouTube finances its content creators, and of the role of Multi Channel Networks acting as intermediary agencies to generate wider audiences /subscribers and consequently a higher income. 



WJEC Eduqas

Sticky Note

Explains how YouTube's guidelines have an impact on Zoella's content for economic gain, thus illustrating their response to the question.



WJEC Eduqas

Sticky Note

Draws on the wider theoretical framework and explores how the media effect of financial determinants can influence the ways in which different audiences may respond.
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Tick


Tick


Tick


Reasonable/straightforward judgements & conclusions


Tick


Tick


Good k & u  


Logical/coherent, well supported judgements & conclusions


Tick


Tick


Tick


Good k & u



WJEC Eduqas

Sticky Note

Draws on the wider theoretical framework again, this time to explore the idea that the audience may be unaware that they are being manipulated for profit. They therefore make an aspect of Baudrillard's theory specifically relevant to this question.



WJEC Eduqas

Sticky Note

Moves on to second set product without concluding their previous points or making a link to Attitude, so could possibly be structured more clearly, or even just start a new paragraph.



WJEC Eduqas

Sticky Note

Demonstrates good factual knowledge for the industry context.



WJEC Eduqas

Sticky Note

Links contextual K&U with relevant theory, which is appropriate, but in a less detailed, more general and straightforward way.




WJEC Eduqas

Sticky Note

Explains and expands their previous point, and backs it up with detailed factual knowledge and understanding of the specific example of the money raised for charity. This then explicitly links back to the question to offer logical, coherent and well supported judgments and conclusions.



WJEC Eduqas

Sticky Note

Good K&U. This candidate is able to draw on further relevant concepts such as diversification and synergy in their discussion of economic factors. 
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Tick


Tick


Tick


Reasonable/straightforward judgements & conclusions


Tick


Good k & u  


Logical discussion


Logical/coherent, well supported judgements & conclusions


Secure understanding



WJEC Eduqas

Sticky Note

Draws some well supported conclusions to link back to the question.



WJEC Eduqas

Sticky Note

This paragraph wanders off topic and does not support their argument as well. They therefore struggle to bring it back to address the question at the end, although this point is generally sound, reasonable and straightforward  (band 3).



WJEC Eduqas

Sticky Note

To achieve marks in the higher bands, a response must construct and develop a sustained line of reasoning which is coherent, relevant, well substantiated and logically structured. This extended response question also assesses AO2 3: the ability to apply K&U of the theoretical framework to make judgements and draw conclusions. Therefore it is essential to write a concluding paragraph for this type of question. 




WJEC Eduqas

Sticky Note

Overall, despite the brief conclusion, this candidate shows a very good knowledge and understanding of the set products, and demonstrates a good grasp of the relevant theoretical framework. They have conducted a logical, coherent discussion, and their arguments are well supported with some detailed references to both of the set products. Their response is well structured, and throughout most of the essay they are able to make some logical and coherent judgements and conclusions. Therefore this response is a good example of a high band 4.





WJEC Eduqas

Sticky Note

This candidate does so fairly well, though briefly, and in a list-like manner. They link back to some of the economic factors mentioned in their introduction, some points covered in the essay, and they simply list theorists covered. This conclusion is just satisfactory-perhaps they ran out of time.












Principal Examiner

Sticky Note

Incorrect modern composite material.  0 Mark.



Principal Examiner

Sticky Note

Correct properties that related to material stated in (i) above would be awarded marks.  However, no suitable properties were described in this response.  0 Marks.







Principal Examiner

Sticky Note

Final calculation incorrect but some workings shown are correct.  Awarded 2 Marks.







Principal Examiner

Sticky Note

Both statements are true.  1 Mark.







Principal Examiner

Sticky Note

Two different component symbols used, including joining symbols.  Not a fully accurate diagram.  2 Marks.












Principal Examiner

Sticky Note

Incorrect answer. 0 Mark.



Principal Examiner

Sticky Note

Correct properties that related to material stated in (i) above would be awarded marks.  However, no suitable properties were described in this response.  0 Marks.







Principal Examiner

Sticky Note

Correct calculations.  All workings shown.  4 Marks.







Principal Examiner

Sticky Note

Both statements are true.  2 Marks.








Principal Examiner

Sticky Note

Three different component symbols used, including joining symbols.  Not a fully accurate diagram.  3 Marks.
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SECTION C – MEDIA IN THE ONLINE AGE 


Answer one question in this section.


Tick (√) the box to indicate the option chosen.


Option 1: PointlessBlog / Alfie Deyes and gal-dem 	


Option 2: Zoella / Zoe Sugg and Attitude	


Either,


Option 1: PointlessBlog / Alfie Deyes and gal-dem


7.	 How much influence do economic factors have on online media products?


	 Refer to PointlessBlog / Alfie Deyes and gal-dem in your response.	 [30]


Or,


Option 2: Zoella / Zoe Sugg and Attitude 


8.	 How much influence do economic factors have on online media products?


	 Refer to Zoella / Zoe Sugg and the Attitude website in your response.	 [30]
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This question is about materials. 
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Question or outline of question / Marking scheme AO Total 


4. (a)   Describe the structure of each of the manufactured boards shown in the table below.  3 x [2] 
 
One mark for identifying a structural characteristic of each manufactured board (up to a maximum of three 
marks) and an additional mark for ensuring that each characteristic is described accurately. No marks to 
be awarded if candidate references cost/cheapest of the board in answer provided.   
 
Plywood – reference may be made to veneers laid at 90 degrees to each other and glued. Together 
plywood is made up of odd layers i.e. 3 ,5, 7, 9 etc. 
 
Chipboard – reference may be made to chipboard being made from wood chips bonded together with 
some form of resin, they may be different in size - the middle core chips are slight bigger and the size of 
the chips decreases as it gets to the edge. Could have laminated finish from wood finishes to plastic 
finishes. 
 
Medium Density Fibreboard – reference may be made that MDF is made from fine wood fibres 
compressed and bonded together (with resin). It is acceptable to state MDF has a flat, smooth surface 
and/or it is made from waste/recycled timber.  
 
Credit any other appropriate response 
 


AO4 1a [3] 
AO4 1b [3] 


6 


(b) (i) ✓  The image below shows a selection of detergent bottles made from a thermoforming plastic. 
State the name of the most appropriate thermoforming plastic used to manufacture the bottles. [1] 
 
One mark for correct answer: 
 


• Low-density polyethylene (LDPE) (1) 


• PET/PETE (1) 


• HTPE (1) 
 
Credit any other appropriate response. 
 


AO4 1c [1] 1 
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Question or outline of question / Marking scheme AO Total 


(ii) ✓  Explain why a thermoforming plastic is suitable for the manufacture of the detergent bottles. [3] 
 
One mark for each reason/property suggested up to a maximum of two marks.  Maximum marks can 
be awarded if reasons/properties given are explained/justified in relation to detergent bottles. 
 
For example: 
Thermoforming plastic is tough and flexible which ensures detergent bottles are easy to use as the 
product can be squeezed from the bottle. (3) 
 
Thermoforming plastic is tough and flexible which ensures the detergent in the bottle will not leak 
even if the bottle is dropped. (3) 
 
Other properties/benefits of thermoforming plastics: 


• They can be re moulded/recycled (environmental) 


• They can be made any colour (safety) 


• They are chemical/water resistant 
 
Credit any other appropriate response.  
 


AO4 1c [1] 
AO4 2b [2] 


3 


(c) (i) ✓  Study the diagram above. Complete the following sentences below by inserting the correct words 
from the list provided. 3 x [1] 
 
One mark for each correctly chosen word. 
 
Knitted  Woven Looped Weft  Warp 
 
Woven fabrics are constructed using interlocking yarns. The yarns that run horizontally are called 
Weft yarns. The yarns that run vertically down the length of the fabric are called Warp yarns. 
 
Do not credit any other response. 
 


AO4 1c [3] 3 
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Question or outline of question / Marking scheme AO Total 


(ii) ✓  The ties shown in the images below are identical in design but differ in fibre content. 
 
Discuss the properties of silk and polyester that make them suitable fabrics for the ties. [3] 
 
One mark for each suitable property suggested up to a maximum of two marks. Maximum marks can 
be awarded if properties given are discussed with clarity. 
 
For example: 
Silk and polyester both have good (tensile) strength which means they won’t tear or wear easily when 
worn. (3) 
Silk and polyester both have good elasticity which means they will not crease and look unsightly 
when worn. (3) 
 
Other similarities/properties: 


• Both are durable 


• Both don’t need ironing 


• Both are flammable 


• Both have high lustre 


• Both are easily dyed any colour 


• Both have good lustre 


• Both are light in weight 


• Silk has a smooth aesthetic which reflects light 


• Polyester is washable, silk is more commonly dry cleaned. 
 
Also accept comments that relate to the fabric construction. For example: silk and polyester are both 
fine fibres (1) which means the woven fabric is fine/compact (1) and will drape well when worn (1). 
 
Credit any other appropriate response. 
 


AO4 2a [3] 3 
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Question or outline of question / Marking scheme AO Total 


(d) (i)   The size of the paper used to make the envelope is 297mm x 420mm. 
Circle the correct standard size used to make the envelope. [1] 
 


A3  A4  A5 
 
One mark for correct answer. The only acceptable answer = A3 
 


AO4 1c [1] 1 


(ii) ✓  60% of the card is made from recycled paper. Describe one disadvantage of using recycled paper for 
this product. [3] 
 
One mark for a correct disadvantage given. Maximum marks should be awarded for a clear 
description of the disadvantage given. No additional marks should be awarded for more than one 
disadvantage unless it forms part of the description. 
 
Disadvantages of using recycled paper: 


• Fibres get shorter which reduces the strength of the paper; 


• Short fibres mean there is less flexibility; 


• Water absorption increases (which doesn’t benefit the function of the robot toy kit); 


• The quality of the paper is reduced; 


• Chemicals are used during the recycling process to remove ink. 
 
Credit any other appropriate response. 
 


AO4 1c [3] 3 


 Total 20 


  








Principal Examiner

Sticky Note

Plywood - layered in alternating 90 degree angles. 
Chipboard - Compressed 'wood parts'.
MDF - small 'grains of wood' compressed. 
4 Marks.








Principal Examiner

Sticky Note

Correct thermoforming plastic.  1 Mark.



Principal Examiner

Sticky Note

Reference made to recycling/re/moulding and speed.  Explanation provided with justification (although not a perfect response).  3 Marks.








Principal Examiner

Sticky Note

One word correctly used from list provided.  1 Mark.



Principal Examiner

Sticky Note

Marks awarded for identifying polyester is durable and long-lasting.  Silk is durable (for a fine fabric).  Reference made to the quality appeal of the fabric.  Both fabrics were discussed and just meets mark scheme requirements.  3 Marks.








Principal Examiner

Sticky Note

Correct paper size identified.  1 Mark.




Principal Examiner

Sticky Note

Reference about the change in colour of recycled paper.  Not the the most appropriate disadvantage but description given and related back to product.   2 Marks. 












Principal Examiner

Sticky Note

Plywood - layered and glued.
Chipboard - no response relevant to structure of board.
MDF - compressed and glued.  4 Marks.








Principal Examiner

Sticky Note

Incorrect thermoforming plastic. 0 Mark.




Principal Examiner

Sticky Note

Reference made to strength, ability to be recycled and reformed.  Explained and related to detergent bottles.  3 Marks.








Principal Examiner

Sticky Note



Principal Examiner

Sticky Note

Silk is light in weight and polyester is 'tough' and long lasting.  No reference made back to the ties as part of discussion.  2 Marks.



becky

Sticky Note

One word correctly used from list provided.  1 Mark.







Principal Examiner

Sticky Note

Correct paper size identified.  1 Mark.



Principal Examiner

Sticky Note

Recycled paper is 'weaker'.  Partly described and related back to product.  2 Marks. 












Principal Examiner

Sticky Note

Plywood - layers, glued.   
Chipboard - 'small chips' 'crushed under high pressure'.
MDF - 'small wood fibres'. 
5 Marks.









Principal Examiner

Sticky Note

Incorrect thermoforming plastic. 0 Mark.




Principal Examiner

Sticky Note

A number of correctly identified reasons why thermoforming plastic is suitable for detergent bottles.  Lacks clear justifications required for an 'explain' question.  2 Marks.  







Principal Examiner

Sticky Note

Three words correctly used from list provided.  3 Marks.



Principal Examiner

Sticky Note

Polyester is a 'strong' material. Limited properties, reference made to aesthetics/characteristics which isn't relevant.   No reference made back to the ties as part of discussion.  1 Mark.







Principal Examiner

Sticky Note

Incorrect paper size identified.  0 Marks.




Principal Examiner

Sticky Note

Recycled paper does 'lose strength'.  Partly described and related back to product.  2 Marks. 












Principal Examiner

Sticky Note

Plywood - layered 90 degree using 'glue'.  
Chipboard - wood chips, glued.
MDF - Glued ('sawdust'). 
5 Marks.








Principal Examiner

Sticky Note

Incorrect thermoforming plastic. 0 Mark.




Principal Examiner

Sticky Note

No correct reasons why thermoforming plastics are suitable for detergent bottles.  0 Marks.







Principal Examiner

Sticky Note

No words correctly used from list provided.  0 Marks.



Principal Examiner

Sticky Note

Reference made to the woven fabric - both fabrics are durable and are tightly woven (due to fineness of fibre).  Answer does refer to the ties (just).  3 Marks.







Principal Examiner

Sticky Note

Correct paper size identified.  1 Mark.




Principal Examiner

Sticky Note

Response does not refer to the disadvantage of recycling paper for product. 0 Marks.












Principal Examiner

Sticky Note

1 Mark awarded for identifying plywood is made up of ' different layers'.  







Principal Examiner

Sticky Note

Incorrect thermoforming plastic. 0 Mark.




Principal Examiner

Sticky Note

1 Mark awarded for identifying thermoforming plastics can be heated/shaped.  One reason with no clear justifications.  1 Mark.







Principal Examiner

Sticky Note

No words correctly used from list provided.  0 Marks.



Principal Examiner

Sticky Note

One reference made loosely to the fabric of silks texture which is correct.   No evidence of clear reference to key properties of the fabrics.  1 Mark.







Principal Examiner

Sticky Note

Correct paper size identified.  1 Mark.




Principal Examiner

Sticky Note

Recycled paper will 'break'.  No reference to the product/no clear description.  1 Mark. 
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This question is about materials.


4.	 (a)	 Describe the structure of each of the manufactured boards shown in the table below. 
	 3 × [2]


Manufactured Board Name Description


Plywood


	


	


	


	


Chipboard


	


	


	


	


Medium 
Density 


Fibreboard
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	 (b)	 The image below shows a selection of detergent bottles made from a thermoforming 
plastic.


	 (i)	 State the name of the most appropriate thermoforming plastic used to 
manufacture the bottles.	 [1]


	


	 (ii)	 Explain why a thermoforming plastic is suitable for the manufacture of detergent 
bottles. 	 [3]
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	 (c)	 The diagram below is of a fabric construction.    


	 (i)	 Study the diagram above. Complete the following sentences by inserting the 
correct words from the list provided.	 3 × [1]


		  Knitted 	 Woven	 Looped	 Weft	 Warp


		  .................................................................. fabrics are constructed using interlocking yarns. The yarns 


that run horizontally are called .................................................................. yarns. The yarns that run 


vertically down the length of the fabric are called .................................................................. yarns.


	 (ii)	 The ties shown in the images below are identical in design but differ in fibre 
content.


		  Discuss the properties of silk and polyester that make them suitable fabrics for the 
ties.	  [3]    


	


	


	


	


	


Polyester tieSilk tie


(C600U10-1)
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	 (d)	 Below are pictures of a robot building kit made from recycled paper. 


	 (i)	 The size of the paper used to make the envelope is 297 mm × 420 mm.


		  Circle the correct standard size below, used to make the envelope.	 [1]


				   A3                   A4                   A5


	 (ii)	 60% of the card is made from recycled paper. Describe one disadvantage of 
using recycled paper for this product.	 [3]
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5. (a)    Review the images below and select one CAM device when answering the questions (a) to (c). 
Place a tick (✓) in the box of your selected device. 


AO4 1a [1] 1 


(i)   All the images above are examples of CAM devices. State the meaning of CAM. [1] 
 
One mark for correct meaning of CAM: 
 
Computer Aided Manufacture (1) 
Accept: Computer Aided Manufacturing (1) 
 
Only responses accepted. 
 


  


(ii)   Explain the benefits of using your chosen CAM devise when making products in school. [3] 
 
One mark for each benefit identified, awarding a maximum of two marks. Three marks to be awarded 
for two benefits that have been explained and can relate to a school environment.   
 
Benefits: 


• Accuracy/precision can be achieved; 


• Consistency of outcome; 


• Faster than producing by hand; 


• Less waste of resources; 


• Minimal supervision required; 


• Machines can work continuously (in comparison to human fatigue); 


• In the case of the laser cutter/CNC Router – can process a range of different materials (1). This 
benefits a class of students who are making different products from different materials (1). 


 
Credit any other appropriate response. 
 


AO4 1c [3] 3 
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Question or outline of question / Marking scheme AO Total 


(b)    The CAM devices require input from a CAD software package. AO4 2a [1] 1 


(i)   Give one example of a CAD software package that could be used with your chosen device. [1] 
 
One mark for correct response. 
 
Examples: 


• CorelDraw 


• Prodesk Top 


• Google sketch-up 


• Adobe Illustrator 


• Solidworks 


• AutoCad 


• Photoshop 


• Fushion 360 


• 2D Design 


• Tinkercad 
 
Credit any other appropriate response. 
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Question or outline of question / Marking scheme AO Total 


(ii)   Describe two disadvantages of using CAD in a school environment. [4] 
 
One mark for each disadvantage identified, awarding a maximum of two marks. Four marks to be 
awarded for two disadvantages that have been described and can relate to a school environment.  
 
Disadvantages: 


• CAD programme may not be working/efficient; 


• CAD software may be out of date restricting creative design; 


• School computers may not be powerful enough to run the programme; 


• Software is expensive for a school to be able to purchase for student use; 


• Knowledge required to use the programme; 


• Time required to learn and develop the skills to use the programme effectively; 


• It may be quicker to sketch ideas with a pen/pencil that to draw using CAD (initial ideas). 
 
Credit any other appropriate response. 
 


AO4 2a [2] 
AO4 2b [2] 


4 
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Question or outline of question / Marking scheme AO Total 


(c) (i)   Explain a safety consideration when using your chosen CAM device. [2] 
 
One mark can be awarded for an appropriate safety consideration relating to CAM device(s). Two 
marks can only be awarded if the candidate explains why this safety consideration is important, for 
example, by identifying a hazard.  


• Keep all hands away from moving parts (1) 


• Check the machine is plugged in correctly before switching on (1)  


• Check all power settings/threading of machine are correct (1) 


• Check extractor is working/switched on – dust is dangerous if inhaled/gathered in eye (and can 
cause fires if left to build up (2) 


• Extraction boxes need cleaning and filtering regularly (1) 


• Training has taken place before use (1) 


• Cables/electricity is supplied through a circuit breaker so if an electrical fault develops the 
electrical power will be cut off straight away and fire risk reduced/removed (2) 


• Devices are maintained/serviced regularly/annually (1) 


• Machines should never be left on their own when switched on and functioning (1) 


• Temperatures reached (210 to 250⁰C) in 3D printing thermoplastics are a scalding hazard (1) 
 
Note: Candidates may make reference CAM devices today are very safe to use as they will not work 
unless the settings are correct, or guards/closures are in place. Credit can be awarded if this forms 
part of a students’ response. 
 
Credit any other appropriate response. 
 


AO3 2b [2] 2 
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Question or outline of question / Marking scheme AO Total 


(ii)    Evaluate the use of your chosen CAM device when used in the development of a design.  
 
Two marks to be awarded for each point made if evaluated clearly (two needed), three points made 
with no clear evaluative comment can be awarded a maximum of three marks. Three points made 
with some sound evaluative reasons can be awarded maximum marks. Evaluative comments can be 
both positive and negative in nature. 
 
Responses may include: 


• Problems in construction/aesthetics can be highlighted before production commences; 


• Views from target market can be gathered to ensure the product fulfils their needs; 


• Potential problems (e.g. accessibility of resources) are highlighted which can then be 
addressed/changed before production; 


• Could save costs (time/staffing/resources) if a product is not suitable, e.g. does not sell; 


• However, time is required, and this costs in resources and staffing. 
 
Credit any other appropriate response. 
 


AO3 2b [4] 4 
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Question or outline of question / Marking scheme AO Total 


(d) ✓ 4 The CAD drawings below show two solid shapes that are to be 3D printed to form part of a child’s toy 
puzzle. 
Calculate the volume of the cube and the cylinder shapes. [5] 
Round your answer to 2 decimal points. Show all workings.  
 


 
 
Volume of cube: 
 
3.5cm (3.5cm x 3.5cm) (1) 
= 42.875cm3 is acceptable or 42.88cm3 (1) 
 
Volume of cylinder: 
 
Volume of cylinder = πr2h 
π x 1.52 = 2.25cm2 (1) 
3.142 x 2.25cm2 = 7.07cm2 (1) 
7.07cm2 x 3.5cm = 24.74cm3 (1)  
 
Credit any appropriate approach to calculating the volume of the cube and cylinder. 
 


AO4 1a [1] 
Ao4 1b [4] 


5 


 Total 20 


  








Principal Examiner

Sticky Note

Correct response.  1 Mark.



Principal Examiner

Sticky Note

Reference made to efficiency/faster and intricate designs can be made.  Lacks a clearly explained reason why these are benefits to a school environment.  2 Marks.







Principal Examiner

Sticky Note

Correct example of a CAD software package.  1 Mark.



Principal Examiner

Sticky Note

Answer provided is confusing CAD with CAM.  Accessibility identified as a disadvantage accepted.  Some explanation given (just).  2 Marks. 



Principal Examiner

Sticky Note

1 mark awarded for identifying the laser can be dangerous.  No reference made for the need to wear safety glasses.  1 Mark.




Principal Examiner

Sticky Note

Reference made to 'intricate details on a small scale' and 'a range of materials'.  A short evaluation provided comparing CAM with production by self.  3 Marks.







Principal Examiner

Sticky Note

Correct calculation with workings shown.  2 Marks.



Principal Examiner

Sticky Note

Correct calculation with workings shown.  3 Marks.












Principal Examiner

Sticky Note

Incorrect response.  0 Marks.



Principal Examiner

Sticky Note

Reference made to continuous production and speed of printing. Lacks a clearly explained reason why these are benefits to a school environment.  2 Marks.







Principal Examiner

Sticky Note

Correct example of a CAD software package.  1 Mark.



Principal Examiner

Sticky Note

Reference made to difficulty in understanding (use) of CAD and the cost for (a school) to purchase for all students.  Some description, although lacking clarity.  3 Marks.



Principal Examiner

Sticky Note

A basic response referencing the the heat of a 3D printer once printing as taken place.  Does mention - as a safety tip - not to touch.  Explanation given if a weak response.  2 Marks. 



Principal Examiner

Sticky Note

Reference made to continuous production with evaluative comment as a disadvantage in production of just one product.  'Update to develop design' given an additional mark.  3 Marks.







Principal Examiner

Sticky Note

Correct calculation with some workings shown.  2 Marks.



Principal Examiner

Sticky Note

Correct calculation with workings shown.  3 Marks.












Principal Examiner

Sticky Note

Correct response.  1 Mark.



Principal Examiner

Sticky Note

Responses do not answer question posed.  0 Marks.







Principal Examiner

Sticky Note

Correct example of a CAD software package.  1 Mark.



Principal Examiner

Sticky Note

Reference made to the difficulty in learning and teaching in a school environment.  Processing power of school computer may not be 'suitable'.  Disadvantages identified with some description.  4 Marks.



Principal Examiner

Sticky Note



Principal Examiner

Sticky Note

Reference made to costs.  Lacks evaluative comments and limited, appropriate points.  1 Mark.



becky

Sticky Note

A laser cutter has extraction - no mask is needed.  0 Marks.







Principal Examiner

Sticky Note

Correct calculation with workings shown.  2 Marks.



Principal Examiner

Sticky Note

Correct calculation with workings shown.  3 Marks.












Principal Examiner

Sticky Note

Incorrect response.  0 Marks.



Principal Examiner

Sticky Note

Quick production is stated with an explanation as to the benefit to students.  2 Marks.  







Principal Examiner

Sticky Note

Incorrect example of CAD software.  0 Marks.



Principal Examiner

Sticky Note

Reference made to time being a advantageous in relation to training and the expense to buying for all, referencing subscription.  Disadvantages identified with some description.  3 Marks.



Principal Examiner

Sticky Note

Although the laser cutter won't cut without the lid covering the material being cut, the candidate did reference the need to wear 'goggles' as a safety feature.  1 Marks only.  



Principal Examiner

Sticky Note

Reference made towards costs.  Lacks evaluative comment in relation to development of design.  1 Mark.







Principal Examiner

Sticky Note

Correct calculation with workings shown.  2 Marks.



Principal Examiner

Sticky Note

Correct calculation with workings shown.  3 Marks.












Principal Examiner

Sticky Note

Correct response.  1 Mark.



Principal Examiner

Sticky Note

1 mark for referencing 'precision'.  Answer does not explain clearly the benefit to making products in school.  







Principal Examiner

Sticky Note

Correct example of a CAD software package.  1 Mark.



Principal Examiner

Sticky Note

Answer relates to CAM and not CAD.  0 Marks.



Principal Examiner

Sticky Note

If laser cutting incorrectly, there may be 'sharp edges'.  Weak response.  1 Mark.



Principal Examiner

Sticky Note

No appropriate evaluative response.  0 Marks.







Principal Examiner

Sticky Note

Correct calculation with workings shown.  2 Marks.



Principal Examiner

Sticky Note

Correct calculation with workings shown.  3 Marks.
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5.	 Review the images below and select one CAM device when answering the questions (a) to (c).
Place a tick (√) in the box of your selected device.


Laser Cutter CNC Embroidery Machine


CNC Router Machine 3D Printer


	 (a)	 (i)	 All the images above are examples of CAM devices.
			   State the meaning of CAM.	  [1]


			  C...............................................    A...............................................    M............................................... 


	 (ii)	 Explain the benefits of using your chosen CAM device when making products in 
school.	 [3]
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15


	 (b)	 The CAM devices require input from a CAD software package.


	 (i)	 Give one example of a CAD software package that could be used with your 
chosen device.	 [1]


	


	 (ii)	 Describe two disadvantages of using CAD in a school environment.	 [4]


	


	


	


	


	


	


	


	


	 (c)	 (i)	 Explain a safety consideration when using your chosen CAM device. 	 [2]


	


	


	


		  (ii) 	 Evaluate the use of your chosen CAM device when used in the development of a 
design.	 [4]
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	 (d)	 The CAD drawings below show two solid shapes that are to be 3D printed to form part 
of a child’s toy puzzle.  


		  Calculate the volume of the cube and the cylinder shapes.
		  Round your answer to 2 decimal points. Show all workings. 


		  Volume of cube:	 [2]


	


	


	


		  Answer ............................................... cm3


		  Volume of cylinder:	 [3]


	


	


	


	


	


		  Answer ............................................... cm3


3.5 cm


3.5 cm
3.5 cm


3.5
 cm


r = 1.5 cm


r
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Question 6:  Natural and manufactured timbers  
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6. (a)   The picture below is of a child’s toy made from natural timber. AO4 1a [1] 1 


(i)   State the name of the component used to join the wheels to the toy. [1] 
 
Acceptable answers for component used to join the wheels to the toy: Dowel/Spindle/Axle. 
 


  


(ii)   State the name of the machine used to create the animal’s eye in the child’s toy. [1] 
 
Only acceptable answer: Pillar Drill, Hand or Electric Drill, Portable/Rechargeable Power Drill, Press 
Drill.  
 


AO4 1b [1] 1 


(iii)   The child’s toys have different finishes applied. Explain why a finish is used. [2] 
 
Up to 2 marks can be awarded for a clear explanation of staining the wood to create different 
coloured finishes on the wood or using a clear oil or varnish to give the wood a natural patina. 
 
For example: 
Different tints of colour can be achieved by staining the wood unless the natural colour is kept and 
then an oil or clear varnish would be added so as to keep the natural colour of the wood used. 
 
Stain and varnish are also available in one finish as well. 
 
Additionally: 


• a finish will be applied to attract the target user, grabbing their attention; 


• a finish protects the toy and ensures ease of cleaning. 
 
Credit any other appropriate response. 
 


AO4 2b [2] 2 
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(iv)   The image below shows a piece of equipment used to finish parts of the child’s toy. 
 
State the name of this piece of equipment. [1] 
 
Only acceptable answer for this piece of equipment: Disc Sander. (Sanding Machine is acceptable) 
 


AO4 2c [1] 1 


(v)   The wooden toy has been constructed using a rectangular timber block. Describe how to manufacture 
the body of the child’s toy.  
 
Award up to 4 marks for answers that demonstrate a clear understanding of the stages needed to 
manufacture the main body of the natural timber toy. 
 
Responses could be based on: 
1. Create a template (by hand or through CAD) in order to mark out identical main body parts (1) 
2. Mark out the main body of the toy using the template and a pencil (1) 
3. Cut out the shape using a jig saw/scroll saw/band saw/coping saw (1) 
4. Use a disc sander to finish external curves and hand sand the more intricate internal curves using 


hand sand/glass paper (1) 
5. Drill the holes for the wheels and the eye of the animal using the pillar drill (1) 
6. Sand down the surface of the main body in the direction of the grain using a variety of grades of 


sand/glass paper (1) 
7. Apply a finish. (1) 
 
Credit any other appropriate response. 
 


AO4 2c [4] 4 


(b)  5 A retailer tracked the sales of the child’s toy over a 4-month period. The table below displays the data 
collected. 


Sales (£) Month 


1,500 December 


2,500 January 


750 February 


500 March 
 


AO4 1b [3] 
AO4 1c [2] 


5 
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(i)   In the space below draw and label a bar chart showing the sales data found in the table above. [3] 
 
Award marks for accuracy of bar chart and correct labelling. 
 
Accurate axis labelling (1) 
Accurate scaling (1) 
Accurate drawing of bars (1) 
 
Example below: 
 


 
 
Credit any appropriate approach 
 


  


0
500


1000
1500
2000
2500
3000


Sa
le
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Month


Bar chart of sales







 


© WJEC CBAC Ltd. 38 


Q 


S
c
ie


n
c
e


 


M
a
th


s
 


Natural and manufactured timbers 
Question or outline of question / Marking scheme 


AO Total 


(ii)   The retailer pays 20% Value Added Tax (VAT) on all sales. Calculate how much VAT will need to be paid 
for the child’s toy sales over the 4-month period. Show all workings. [2] 
 
Calculate total sales:  £1,500 + £2,500 + £750 + £500 = £5,250 (1) 
 
Calculate VAT:  £5,250/100 x 20 = £1,050 (1) 
 
Credit any appropriate approach to calculating the 20% VAT. All workings should be shown in response. 
 


  


(c)   Pine and oak are natural timbers used to manufacture the child’s toy.  
 
Analyse the impact deforestation and converting natural timbers has on our ecological footprint.   [5] 
 
Band descriptors and mark allocations 
  


 AO3 2a  5 marks 


BAND 3 A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to analyse the ecological footprint of cutting down and 
converting natural wood from trees has on the planet. There will be evidence 
of relevant examples and a well-developed logical chain of reasoning, 
sustained throughout. 


4-5 


BAND 2 Answer has some coherence, demonstrating partial knowledge and 
understanding, to analyse the ecological footprint of cutting down and 
converting natural wood from trees has on the planet. There will be some 
evidence of mostly relevant examples and a logical chain of reasoning, but 
this may not be sustained throughout.  


2-3 


BAND 1 Answer demonstrates only basic knowledge and understanding, to analyse 
the ecological footprint of cutting down and converting natural wood from trees 
has on the planet. There will be limited evidence of relevant examples or a 
logical chain of reasoning. 


1 


 Award 0 marks for incorrect or irrelevant answers 


 


AO3 2a [5] 5 
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Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the points identified 
below. 
 
Cutting down and converting trees into planks of wood has a negative impact on our ecological 
footprint unless the wood comes from managed sources.  
 
These include: 
 
Negative: 


• Hard wood trees such as oak take a very long time to grow compared to softwoods like pine; 


• Trees help produce carbon dioxide and help prevent global warming; 


• Converting tree trunks into planks involves using energy and nearly always involves 
transportation from the land to converting factory units; this can cause air pollution and use of 
non-renewable energy resources; 


• Deforestation cutting down trees has a negative impact upon the environment and climate 
change. 


 
Positive: 


• Managed wood sources are managed in such a way as when a tree is cut down it is replaced 
with a new one; 


• Fast growing softwood trees are mainly used as they take less time to grow creating their own 
lifecycle; 


• Waste wood is used to make other manmade boards; 


• The same land is used and not cleared leaving gaps in the landscape; 


• Converting factories are located at the source of the wood to avoid unnecessary transportation. 
 
Credit any other appropriate response.  
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(d)   Evaluate why prototyping and modelling design ideas benefits both the designer and the 
manufacturer when designing a child’s toy. [6] 
 
Band descriptors and mark allocations 
 


 AO3 2b  6 marks 


BAND 3 


A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be evidence of relevant 
examples and well-developed substantiated judgements in a response 
which is logically structured.   


5-6 


BAND 2 


Answer has some coherence, demonstrating partial knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be some evidence of mostly 
relevant examples and partly-substantiated judgements in a response 
which is generally well structured. 


3-4 


BAND 1 


Answer demonstrates only basic knowledge and understanding, to 
evaluate why prototyping design ideas benefits both the designer and the 
manufacturer. There will be limited evidence of relevant examples or 
judgements in a response which demonstrates little structure. 


1-2 


 Award 0 marks for incorrect or irrelevant answers 


  


AO3 2b [6] 6 
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   Indicative content 
 
This content is not prescriptive, and candidates are not expected to refer to all the material identified 
below. 
 
Modelling/prototyping is when design ideas are tested or made to establish whether they are suitable for 
being developed and/or manufactured on a larger scale. 
 
Note: the disadvantages, if referred to, should reflect upon the benefits being evaluated.  
 
Advantages of prototyping/modelling: 
• Explore and test ideas to identify issues which could be costly if manufactured without evaluation of 


success; 
• Gives opportunities to test and get feedback from clients to ensure manufacturing what they want; 
• Opportunities to discuss implementation problems with manufacturing plant; 
• Ability to manipulate design ideas which is not always possible with paper drawings; 
• Saves designers wasting time following a design idea that won’t work; 
• Is tangible – the aesthetic of the product can be seen; 
• Can be used in user trails and user research. 
 
Disadvantages of prototyping/modelling: 
• Designers can easily make assumptions about how accurately a model represents reality; 
• It may not work/function like the final product needs to; 
• Might not be made of the same material – so won’t reflect fully the function/purpose/aesthetic of the 


end product; 
• Time consuming to make; 
• Skill needed to produce accurately; 
• Can be costly (prototypes). 
 
Credit any other appropriate response.  
 


  


    Total 25 


  








Principal Examiner

Sticky Note

Correct response.  1 Mark.



Principal Examiner

Sticky Note

Answer provided was not specific enough.  A Pillar Drill or Hand Drill was required.  0 Marks. 



Principal Examiner

Sticky Note

A clear explanation provided.  Referencing a finish helps make the toy 'scratch resistant' and 'aesthetically better' to emphasize the grain.  Answer provided more than required.  2 Marks.







Principal Examiner

Sticky Note

Incorrect name of equipment - a more specific example required.  A Disc Sander was the ideal answer.  0 Marks.



Principal Examiner

Sticky Note

The question required a description of the manufacture of the body of the child's toy, not the designing of it.  Correct processes identified but a number lacked description (how to).  2 Marks awarded for 'smoothing rough edges ... for applying finishes' and 'drilling holes'.  A more focused description would have gained more marks.  2 Marks.  







Principal Examiner

Sticky Note

Bar chart correctly drawn and labelled. 







Principal Examiner

Sticky Note

Correct calculation and workings shown.  2 Marks.



Principal Examiner

Sticky Note

Analysis has taken place - positives and negatives included within response.  Well-developed and a logical change of reasoning sustained throughout.  Knowledge detailed and relevant. 
Referenced:
Biodegradable fibres;
Requirement of land for animals that can cause habitat destruction and deforestation;
Water needed for processing;
Toxicity from insecticides;
Pollution.  
5 Marks
Analysis has taken place - only negatives included within response.  Well-developed and a logical change of reasoning.  Knowledge detailed and relevant. 
Referenced:
Deforestation/destruction of habitats;
Less C02 removal/photosynthesis;
Energy/fossil fuel usage for processing timbers;  
4 Marks




Principal Examiner

Sticky Note

Detailed, relevant and well-developed evaluation.  Lots of examples provided which are evaluated logically. 
Reference made to:
Identifying errors before 'making', allowing for adaptions;
Exact measurement/right materials;
Designer can be creative;
(Feedback)/critique of product/test product with target audience;
Manufacturer can calculate cost/suitability.
6 Marks. 
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6.	 Natural and manufactured timber


	 (a)	 The picture below is of a child’s toy made from natural timber.


	 (i)	 State the name of the component used to join the wheels to the toy.	 [1]


	


	 (ii)	 State the name of the machine used to create the animal’s eye in the child’s toy. 
	 [1]


	


	 (iii)	 The child’s toys have different finishes applied. Explain why a finish is used.	 [2]


	


	


	


(C600U10-1)
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	 (iv)	 The image below shows a piece of equipment used to finish parts of the child’s 
toy.


		  State the name of this piece of equipment.	 [1]


	


	 (v)	 The wooden toy has been constructed using a rectangular timber block. Describe 
how to manufacture the body of the child’s toy. 	 [4]


 


Description of manufacturing the body of the toy


.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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	 (b)	 A retailer tracked the sales of the child’s toy over a 4-month period. The table below 
displays the data collected. 


	 (i)	 In the space below draw and label a bar chart showing the sales data found in the 
table above.	 [3]


Sales (£) Month


1 500 December


2 500 January


750 February


500 March


Bar chart of sales


0


500


1 000


1 500


2 000


2 500
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	 (ii)	 The retailer pays 20% Value Added Tax (VAT) on all sales. Calculate how much 
VAT will need to be paid for the child’s toy sales over the 4-month period. Show all 
workings.  	 [2]


	


	


	


	 (c) 	 Pine and oak are natural timbers used to manufacture the child’s toy. 


		  Analyse the impact deforestation and converting natural timbers has on our ecological 
footprint.  	  [5]


	


	


	


	


	


	


	


	


	 (d)	 Evaluate why prototyping and modelling design ideas benefit both the designer and the 
manufacturer when designing a child’s toy.	 [6]     
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Question 6: Electronic systems, programmable components and mechanical devices 
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6. (a) (i)   State the name of a component that could be used to turn on the child’s mood light. [1] 
 
Acceptable answers include: Switch or LDR (Light dependant resistor).  
 
Credit any other appropriate response. 
 


AO4 1a [1] 1 


(ii)   The circuit board in the child’s mood light is designed with a PIC chip. State a function of the PIC chip. [1] 
 
For example: 
To be programmed as a timer to change light sequence (1) 
The function of a PIC chip is to process the instructions in the programme (1) 
To carry out tasks in the programme (1) 
 
Credit any other appropriate response. 
 


AO4 1b [1]  1 


(iii)   Explain why a double-sided circuit board is used in the child’s mood light. [2] 
 
Answers must relate to the benefits of using a double-sided circuit board in the mood light. 1 mark for one 
correct benefit and 1 mark for clear description. 
 
For example: 
The main benefit of double-sided boards is that you have an extra layer to add more components. This 
increases the flexibility of the design, enabling you to place more extra connections if needed. (2) 
 
Responses could be based on: 


• The use of more complex circuitry as there is more space; 


• Perfect for advanced electronics or demanding applications; 


• Reduces the size of the board needed;  


• Cost-saving which makes double sided PCBs less expensive. 
 
Credit any other appropriate response. 


AO4 2b [2] 2 
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(iv)   The image below shows a piece of equipment used to attach the components to the circuit board in 
the child’s mood light. State the name of this piece of equipment. [1] 
 
Only acceptable answer for this piece of equipment: Soldering Iron 
 


AO4 2c [1] 1 


(v)   The picture below shows a circuit board. Describe the process of joining the LED onto the circuit 
board. [4] 
 
Award up to 4 marks for answers that demonstrate a clear understanding of the logical stages 
needed to solder an LED to the circuit board. 
 
Responses could be based on: 


• Clamping the circuit board in place; 


• Drilling two holes for the LED terminals; 


• Using wet and dry paper to clean the pads of the PCB where the LED will be soldered; 


• Placing the LED; 


• Using a multimeter to determine the polarity of the LED or to find the cathode on the LED; 


• Using a spacer to determine the height of the LED; 


• Orienting the LED in a specific direction to work properly; 


• Flipping the board over and bending the leads outward at a 45′ angle to make a better connection 
with the copper pad and prevent the LED from falling out while soldering; 


• Turning on the soldering iron and letting it heat up; 


• Holding the soldering iron in place for 3-4 seconds in order to heat the pad and the lead; 


• Applying solder to the Joint until it looks like a volcano or cone shape; 


• Snipping the extra wire from leads. 
 
Credit any other appropriate response. 
 


AO4 2c [4] 4 
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(b)  5 A retailer tracked the sales of the child’s mood light over a 4-month period. The table below displays 
the data collected. 


AO4 1b [3] 


AO4 1c [2] 


5 


(i)   In the space below draw and label a bar chart showing the data found in the table above. 
 


 [3] 
 
Award marks for accuracy of bar chart and correct labelling. 
 
Accurate axis labelling (1) 
Accurate scaling (1) 
Accurate drawing of bars (1) 
 
Credit any appropriate approach 
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(ii)   The retailer pays 20% Value Added Tax (VAT) on all sales over a period of four months. Calculate 
how much VAT will need to be paid for the child’s mood lights over that 4-month period. [2] 
 
Calculate total sales:  £1,500 + £2,500 + £750 + £500 = £5,250 (1) 
Calculate VAT:  £5,250/100 x 20 = £1,050 (1) 
 
Credit any appropriate approach to calculating the 20% VAT. 
 


  


(c)   Different electronic components use a wide range of materials, for example, silver, cadmium, ferric 
chloride and mercury. Analyse the impact recycling electronic components has on our ecological 
footprint. [5] 
 
Band descriptors and mark allocations 
  


 AO3 2a  5 marks 


BAND 3 


A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to analyse the ecological footprint of using electronic 
products on the planet. There will be evidence of relevant examples and a 
well-developed logical chain of reasoning, sustained throughout. 


4-5 


BAND 2 


Answer has some coherence, demonstrating partial knowledge and 
understanding, to analyse the ecological footprint of using electronic 
products has on the planet. There will be some evidence of mostly relevant 
examples and a logical chain of reasoning, but this may not be sustained 
throughout.  


2-3 


BAND 1 


Answer demonstrates only basic knowledge and understanding, to analyse 
the ecological footprint of using electronic products has on the planet.  
There will be limited evidence of relevant examples or a logical chain of 
reasoning. 


1 


 Award 0 marks for incorrect or irrelevant answers 


  


AO3 2a [5] 5 
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   Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the points identified 
below. 
 
The impact recycling electronic components has on our ecological footprint may be referenced in 
answers provided to include: 
 
Negative: 


• Electronic products must be disposed of at an approved treatment facility.   


• e-waste – often contains high levels of hazardous or toxic substances; 


• The increase in e-waste which can be linked to technological innovation and the expansion of 
market chains, which result in products being replaced sooner; 


• If products are disposed of in normal waste they will go straight to landfill, where they will 
decompose and the hazardous materials will leak into the environment; 


• Hazardous materials, that leak from electronic products disposed of, get into the water system 
and potentially cause serious health problems for humans. 


 
Positive: 


• The Waste Electrical and Electronic Equipment (WEEE) directive requires all manufacturers and 
producers to take responsibility for what happens to their products at the end of their lives. 


 
Credit any other appropriate response.  
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(d)   Evaluate why prototyping and modelling design ideas benefits both the designer and manufacturer 
when designing a child's mood light.  [6] 
 
Band descriptors and mark allocations 
 


 AO3 2b  6 marks 


BAND 3 


A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be evidence of relevant examples 
and well-developed substantiated judgements in a response which is logically 
structured.   


5-6 


BAND 2 


Answer has some coherence, demonstrating partial knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be some evidence of mostly 
relevant examples and partly-substantiated judgements in a response which 
is generally well structured. 


3-4 


BAND 1 


Answer demonstrates only basic knowledge and understanding, to evaluate 
why prototyping design ideas benefits both the designer and the 
manufacturer. There will be limited evidence of relevant examples or 
judgements in a response which demonstrates little structure. 


1-2 


 Award 0 marks for incorrect or irrelevant answers 


  


AO3 2b [6] 6 
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   Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material listed 
below. 
 
Modelling/prototyping is when design ideas are tested or made to establish whether they are suitable 
for being developed and/or manufactured on a larger scale. 
 
Note: the disadvantages, if referred to, should reflect upon the benefits being evaluated.   
 
Advantages of prototyping/modelling: 
• Explore and test ideas to identify issues which could be costly if manufactured without evaluation 


of success; 
• Gives opportunities to test and get feedback from clients to ensure manufacturing what they want; 
• Opportunities to discuss implementation problems with manufacturing plant; 
• Ability to manipulate design ideas which is not always possible with paper drawings; 
• Saves designers wasting time following a design idea that won’t work; 
• Is tangible – the aesthetic of the product can be seen; 
• Can be used in user trails and user research. 
 
Disadvantages of prototyping/modelling: 
• Designers can easily make assumptions about how accurately a model represents reality; 
• It may not work/function like the final product needs to; 
• Might not be made of the same material – so won’t reflect fully the function/purpose/aesthetic of 


the end product; 
• Time consuming to make; 
• Skill needed to produce accurately; 
• Can be costly (prototypes). 
 
Credit any other appropriate response 
 


  


    Total 25 
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SECTION B


6.	 Electronic systems, programmable components and mechanical devices


	 (a)	 The pictures below show a child’s colour changing mood light.


	 (i)	 State the name of a component that could be used to turn on the child’s mood 
light. 	 [1]


	


	 (ii)	 The circuit board in the child’s mood light is designed with a PIC chip. State a 
function of the PIC chip. 	 [1]


	


	 (iii)	 Explain why a double-sided circuit board is used in the child’s mood light.	 [2]
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	 (iv)	 The image below shows a piece of equipment used to attach the components to 
the circuit board in the child’s mood light.


		  State the name of this piece of equipment.	 [1]


	


	 (v)	 The picture below shows a circuit board. Describe the process of joining the LED 
onto the circuit board.	 [4]


Description of soldering the LED


.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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	 (b)	 A retailer tracked the sales of the child’s mood light over a 4-month period. The table 
below displays the data collected.


	 (i)	 In the space below, draw and label a bar chart showing the data found in the table 
above.	 [3]


Sales (£) Month


1 500 December


2 500 January


750 February


500 March


Bar chart of sales


0


500


1 000


1 500


2 000


2 500
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	 (ii)	 The retailer pays 20% Value Added Tax (VAT) on all sales over a period of four 
months. Calculate how much VAT will need to be paid for the child’s mood lights 
over the 4-month period.	 [2]


		  Show all workings.


	


	


	


	 (c) 	 Different electronic components use a wide range of materials, for example, silver, 
cadmium, ferric chloride and mercury. 


		  Analyse the impact recycling electronic components has on our ecological footprint.	 [5]


	


	


	


	


	


	


	


	


	 (d)	 Evaluate why prototyping and modelling design ideas benefit both the designer and 
manufacturer when designing a child’s mood light.	 [6]
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6. (a)    The pictures below are of a greetings cards manufactured from 180 gsm card. AO4 1a [1] 1 


(i)   State one reason why 180 gsm is the most suitable weight for the greetings cards. [1] 


 


Acceptable answers can include reference to: Strength/Lightweight/Rigidity. 
 


  


(ii)   State one reason why a ‘duplex’ printer is used to manufacture the greetings cards. [1] 


 


The function of a duplex printer is to print on both sides of the material (1)  
 
Credit any other appropriate response. 
 


AO4 1b [1]  1 


(iii)   Explain why registration marks are used when manufacturing greetings cards. [2] 


 
Up to 2 marks can be awarded for a clear explanation for the use of registration marks during 
construction.   
 
For example: 
Registration marks are there to line up the different printing colours. They make sure that every 
printing plate prints in exactly the right place preventing any blur. 
 
Credit any other appropriate response.  
 


AO4 2b [2] 2 
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(iv)   The picture below shows a piece of equipment used to manufacture the greetings cards.  
 
State the name of this piece of equipment. [1] 
 
Only acceptable answer is: Rotary Trimmer (accept Guillotine). 
 


AO4 2c [1] 1 


(v)   The greetings card has been constructed using a die cutting machine. Describe the process of die 
cutting the greetings card shown. [4] 
 
Award up to 4 marks for answers that demonstrate a clear understanding of what a die cutter is and 
how it can be used to produce different techniques. 
 
Responses could be based on: 
1. Ensure the die is in the correct location (1) 
2. Place the material and die carefully between the plastic ‘presses’ (1) 
3. Ensure that the pressure gauge is at the correct setting for the material being used or for the 


desired technique (1) 
4. Using the machine roll the material between the two pressurised rollers (1) 
5. Check the material to evaluate the success of the pass. (1) Repeat for second time if effect is 


unsatisfactory. 
6. Remove any wastage, if material has been die cut, or carefully remove die if the material has 


been embossed (1) 
 
Note: quality checks can be awarded marks, for example: alignment of material to machine (1); 
alignment of ‘window’. 
 
Credit any other appropriate response. 
 


AO4 2c [4] 4 
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(b)  5 A retailer tracked the sales of the greeting cards over a 4-month period. The table below displays the data 
collected. 
 


Month Sales (£) 


December 1,500 


January 2,500 


February 750 


March 500 


  


AO4 1b [3] 
AO4 1c [2] 


5 


(i)   In the space below, draw and label a bar chart showing the sales data found in the table above. [3] 
 
Award marks for accuracy of bar chart and correct labelling. 
 
Accurate axis labelling (1) 
Accurate scaling (1) 
Accurate drawing of bars (1) 
 


 
 
Credit any appropriate approach. 
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(ii)   The retailer pays 20% Value Added Tax (VAT) on all sales. Calculate how much VAT will need to be paid 
for the greetings cards sales over the 4-month period. 
Show all workings.  [2] 
 
Calculate total sales:  £1,500 + £2,500 + £750 + £500 = £5,250 (1) 
 
Calculate VAT:  £5,250/100 x 20 = £1,050 (1) 
 
Credit any appropriate approach to calculating the 20% VAT. 
 


  


(c)   Wood and wood pulp are materials used to manufacture the greetings cards.  
 
Analyse the impact harvesting these materials has on our ecological footprint. [5] 
 
Band descriptors and mark allocations 
 


 AO3 2a  5 marks 


BAND 3 


A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to analyse the ecological footprint harvesting wood and wood 
pulp products has on the planet. There will be evidence of relevant examples 
and a well-developed logical chain of reasoning, sustained throughout. 


4-5 


BAND 2 


Answer has some coherence, demonstrating partial knowledge and 
understanding, to analyse the ecological footprint harvesting wood and wood 
pulp products has on the planet. There will be some evidence of mostly 
relevant examples and a logical chain of reasoning, but this may not be 
sustained throughout.  


2-3 


BAND 1 


Answer demonstrates only basic knowledge and understanding, to analyse 
the ecological footprint harvesting wood and wood pulp products has on the 
planet. There will be limited evidence of relevant examples or a logical chain 
of reasoning. 


1 


 Award 0 marks for incorrect or irrelevant answers 


   


AO3 2a [5] 5 
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   Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the points identified below. 
 
Harvesting wood is seen in the main to have a negative impact on our ecological footprint, however, with 
modern approaches it can have a positive impact. Reasons for both include: 
Negative: 


• Unregulated harvesting causes huge damage to sensitive eco systems;  


• Mechanised harvesting of both regulated and unregulated areas causes huge emission issues to the local 
areas; 


• Forests and woodlands are destroyed leaving some species of animals at risk of losing their habitats or 
leaving entire species critically endangered, due to the degradation of hunting grounds and the disruption 
of food chains; 


• Trees take carbon dioxide from the air and turn it into oxygen as they grow, removing trees without 
replanting means that carbon captured from soil and air becomes extremally difficult; 


• Removing large quantities of trees and plants also increases the risks of flooding to local areas; 


• There is currently very little or poor regulation of the harvesting of timber at critical times for wildlife mating 
seasons or around nest sites, even in developed countries that have renewable sites causing huge 
difficulties for many species of animals; 


• Trees take a long time to reach maturity, to be ready for harvest; 


• Bleaching of wood pulp, chemical spill off. 
Positive: 


• FSC sites are now the most commonly used sites for the harvesting of timbers for products sold in many 
parts of the world; 


• Consumer awareness has grown considerably leading to changes in regulation and attitudes; 


• The repurposing of brown field and former industrial sites for the growth of packaging materials has gained 
popularity in recent times, providing green spaces in the middle of large cities for people to enjoy for leisure 
activities. The use of such sites has risen by 66% over the last 10 yrs. thanks to the FSC; 


• Organisations like the FSC are planting more trees than they are cutting down to fill the void left by years of 
deforestation and over harvesting. 


 
Candidates may refer to climate agreement or packaging regulations that state materials MUST come from a 
renewable source. This would be deemed an analytical comment and should be given credit. 
 
Credit any other appropriate response. 
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(d)   Evaluate why prototyping and modelling design ideas benefits both the designer and the 
manufacturer when designing a greetings card. [6] 
 
Band descriptors and mark allocations 
 


 AO3 2b  6 marks 


BAND 3 


A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be evidence of relevant 
examples and well-developed substantiated judgements in a response 
which is logically structured.   


5-6 


BAND 2 


Answer has some coherence, demonstrating partial knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be some evidence of mostly 
relevant examples and partly-substantiated judgements in a response 
which is generally well structured. 


3-4 


BAND 1 


Answer demonstrates only basic knowledge and understanding, to evaluate 
why prototyping design ideas benefits both the designer and the 
manufacturer. There will be limited evidence of relevant examples or 
judgements in a response which demonstrates little structure. 


1-2 


 Award 0 marks for incorrect or irrelevant answers 


  


AO3 2b [6] 6 
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   Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material identified 
below. 
 
Modelling/prototyping is when design ideas are tested or made to establish whether they are suitable for 
being developed and/or manufactured on a larger scale. 
 
Note: the disadvantages, if referred to, should reflect upon the benefits being evaluated. 
 
Advantages of prototyping/modelling: 
• Explore and test ideas to identify issues which could be costly if manufactured without evaluation of 


success; 
• Gives opportunities to test and get feedback from clients to ensure manufacturing what they want; 
• Opportunities to discuss implementation problems with manufacturing plant; 
• Ability to manipulate design ideas which is not always possible with paper drawings; 
• Saves designers wasting time following a design idea that won’t work; 
• Is tangible – the aesthetic of the product can be seen; 
• Can be used in user trails and user research. 
 
Disadvantages of prototyping/modelling: 
• Designers can easily make assumptions about how accurately a model represents reality; 
• It may not work/function like the final product needs to; 
• Might not be made of the same material – so won’t reflect fully the function/purpose/aesthetic of the 


end product; 
• Time consuming to make; 
• Skill needed to produce accurately; 
• Can be costly (prototypes). 
 
Credit any other appropriate response. 
 


  


    Total 25 


  








Principal Examiner

Sticky Note

Correct response.  1 Mark awarded for identifying 180gsm is 'light'.



Principal Examiner

Sticky Note

Incorrect response.  A duplex printer is one that can print on  both sides of the material.  0 Marks.



Principal Examiner

Sticky Note

Correct response.  Reference made to 'line up the card for printing'.  Would have been ideal for candidate to refer to the reason why.  2 Marks (just).







Principal Examiner

Sticky Note

Correct response. 1 Mark.



Principal Examiner

Sticky Note

Limited description.  Basic stages identified only.  2 Marks.  







Principal Examiner

Sticky Note

Bar chart drawn and labelled correctly.  Axis has not be labelled.  2 Marks.







Principal Examiner

Sticky Note

Correct calculation and workings shown.  2 Marks.



Principal Examiner

Sticky Note

Basic analysis with some appropriate examples.  Partial knowledge and understanding.  
Reference made to:
Felled trees;
Use of oil/production of CO2 through 'processing';
Reference to animal (survival).
2 Marks.




Principal Examiner

Sticky Note

Some coherence demonstrating partial knowledge.  Examples relevant if communicated in a simplistic style. Response had some structure. 
Reference made to:
Time/money/materials/effort;
Experimentation/trying new 'things'.
3 Marks.
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6.	 Papers and boards


	 (a)	 The pictures below are of greetings cards manufactured from 180 gsm card.


	 (i)	 State one reason why 180 gsm is the most suitable weight for the greetings cards.
	 [1]


	


	 (ii)	 State one reason why a ‘duplex’ printer is used to manufacture the greetings 
cards.	 [1]


	


	 (iii)	 Explain why registration marks are used when manufacturing greetings cards.	 [2]
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	 (iv)	 The picture below shows a piece of equipment used to manufacture the greetings 
cards.


		  State the name of this piece of equipment. 	  [1]                                                            


	


	 (v)	 The greetings card has been constructed using a die cutting machine. 	 [4]                                                                                                          
		  Describe the process of die cutting the greetings card shown.    


Description of die cutting process


.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .







24


24


Examiner
only


© WJEC CBAC Ltd. (C600U10-1)


	 (b)	 A retailer tracked the sales of the greetings cards over a 4-month period. The table 
below displays the data collected.


	 (i)	 In the space below draw and label a bar chart showing the sales data found in the 
table above. 	 [3]


Sales (£) Month


1 500 December


2 500 January


750 February


500 March


Bar chart of sales


0


500


1 000


1 500


2 000


2 500
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	 (ii)	 The retailer pays 20% Value Added Tax (VAT) on all sales. Calculate how much 
VAT will need to be paid for the greetings cards sales over the 4-month period.	 [2] 


		  Show all workings.


	


	


	


	 (c)	 Wood and wood pulp are materials used to manufacture the greetings cards.


		  Analyse the impact harvesting these materials has on our ecological footprint. 	 [5] 


	


	


	


	


	


	


	


	


	


	 (d)	 Evaluate why prototyping and modelling design ideas benefit both the designer and the 
manufacturer when designing a greetings card. 	 [6]   
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1. (b) Explore how representations in the set episode of The Bridge may position 
audiences. [15]  


 
2. (b) Explore how representations in the set episode of The Returned may position 


audiences. [15] 
 
3. (b) Explore how representations in No Burqas Behind Bars may position 


audiences. [15] 
 


Band 


AO2 1 
Apply knowledge and understanding of the theoretical 


framework of media to analyse media products, including 
through the use of academic theories 


5 


13-15 marks  


• Excellent application of knowledge and understanding of the 
theoretical framework to analyse the set product  


• Analysis of the set product is perceptive, insightful, and 
informed by a detailed knowledge and understanding of 
relevant aspects of the theoretical framework 


4 


10-12 marks  


• Good application of knowledge and understanding of the 
theoretical framework to analyse the set product  


• Analysis of the set product is logical and informed by a 
secure knowledge and understanding of relevant aspects of 
the theoretical framework 


3 


7-9 marks  


• Satisfactory application of knowledge and understanding of 
the theoretical framework to analyse the set product  


• Analysis of the set product is reasonable and straightforward, 
demonstrating a generally sound knowledge and 
understanding of relevant aspects of the theoretical 
framework 


2 


4-6 marks  


• Basic application of knowledge and understanding of the 
theoretical framework to analyse the set product  


• Analysis of the set product is undeveloped, demonstrating a 
partial knowledge and understanding of relevant aspects of 
the theoretical framework. There may be a tendency to 
simply describe features of the set product. 


1 


1-3 marks  


• Minimal, if any, application of knowledge and understanding 
of the theoretical framework to analyse the set product  


• Analysis of the set product is superficial and generalised, 
demonstrating little or no knowledge and understanding of 
relevant aspects of the theoretical framework.  


 
0 marks  


• Response not worthy of credit  


 
 












Tick


Tick


Tick


Reasonable/straightforward analysis


Tick



WJEC Eduqas

Sticky Note

This is an open question that invites candidates to explore any aspect of representation they wish, through character, issues or settings. Their response must focus on analysis: the ways representations have been constructed to  encourage audiences to adopt or align with particular viewpoints. This candidate chooses to address the question through gender.




WJEC Eduqas

Sticky Note

They address the question quite confidently, identifying gender as a significant aspect of Saga's character. However, their analysis remains undeveloped. There are no examples given to show how Saga has been constructed to be more 'masculine', and in what ways- through mise-en-scene or cinematography, verbal language or gesture codes.




WJEC Eduqas

Sticky Note

They are able to make the important link between their assertion about Saga's non traditional female character and how audiences are encouraged to respond i.e. how the audience are positioned to read her as a strong independent character, and therefore, by implication, to be on her side. This shows the candidate has a clear understanding of the concept behind the question, for band 3: straightforward analysis.
 



WJEC Eduqas

Sticky Note

The Bridge reverses traditional gender roles and the candidate uses this to back up their line of reasoning, through other characters.







1b: 8


Satisfactory application of k & u


Tick


Tick


Undeveloped analysis 


Tick


Reasonable/straightforward analysis


Satisfactory application of k & u


Reasonable/straightforward analysis  



WJEC Eduqas

Sticky Note

Offers a little more general analysis of how Henrik's character has been constructed here (although possibly has got the names of Hans and Henrik muddled up). These examples are used to support the argument about audience positioning, perceiving female characters as strong. Explicit engagement with the question.




WJEC Eduqas

Sticky Note

Begins to explore representations of LGBT issues as well as gender, which shows good potential but lacks development. 



WJEC Eduqas

Sticky Note

Applies K&U by showing their understanding of how the audience is positioned to react to this difference, of Saga's perceived neurodiversity. This demonstrates again that this candidate clearly understands the link between the way the characteristic is shown and the effect on the spectator. 




WJEC Eduqas

Sticky Note

They begin to illustrate the point with an example, but again, it is very brief and under-developed.



WJEC Eduqas

Sticky Note

Draws the link between the representation and the effect to finish the essay, explicitly addressing the relationship between representations and audience positioning (necessary for band 3 and above).



WJEC Eduqas

Sticky Note

Although there is not much analysis in this response,  the candidate engages with the question to show their conceptual understanding of how characters may position audiences to respond in particular ways, how the viewer is invited to look at Saga and interpret her character. There is evidence of a clear understanding, adequate for the middle of band 3 in this short 15 mark question.




WJEC Eduqas

Sticky Note

Successfully introduces another aspect of Saga's character which could also be considered as an issue of "difference".




WJEC Eduqas

Sticky Note

They overlook the fact that Helle Anke is the murder victim, killed as a punishment for her beliefs. For example, they could have explored the way the pre-title sequence tableau of the murder scene has been filmed and edited to elicit shock, sympathy and even outrage, from the viewer.
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Tick Tick


Tick


Tick


Good application of k & u


Logical/secure analysis 


Tick


Tick


Tick


Excellent application of k & u


Tick


Tick


Perceptive/insightful analysis 



WJEC Eduqas

Sticky Note

Explicit address of question, again through gender, linking one segment of the target audience with how the character's representation has been constructed to appeal to them. Good, clear understanding.



WJEC Eduqas

Sticky Note

This candidate is able to draw upon named aspects of the theoretical framework here, but does not use it to develop their analysis any further (to show how the representation has been constructed, through close textual analysis,  to facilitate audience identification).




WJEC Eduqas

Sticky Note

A good example illustrating both the point being made and the theory referenced here. It is also developed to link back to their earlier point about how segments of the target audience may respond differently from other audiences. 







Tick


Tick


Tick


Tick


Tick


Perceptive/insightful analysis 


Tick


Tick


Tick


Tick


Good application of k & u


Logical/secure analysis 


Tick


Tick


Logical/secure analysis 



WJEC Eduqas

Sticky Note

Develops their argument by using another textual example as evidence, however brief. 



WJEC Eduqas

Sticky Note

Develops the same line of reasoning to show how different aspects of the same representation have been constructed to appeal to and align other segments of the target audience/s.



WJEC Eduqas

Sticky Note

Develops the same argument further to include more audiences who may feel 'othered' or marginalised in mainstream media texts, due to their under- representation. By exploring other characters as well, this candidate is able to expand a secure and logical argument. They demonstrate their good, clear understanding of how The Bridge may position audiences differently, and hence how this is part of its appeal. The way these elements are confidently linked together makes their analysis perceptive and insightful.



WJEC Eduqas

Sticky Note

Reference is made to theory in passing (van Zoonen and Butler) but the focus remains on analysis of character representation, as it should in this question. The candidate is ambitiously trying to juggle quite a lot at once here.




WJEC Eduqas

Sticky Note

Good fluent examples; the candidate clearly has a secure understanding and knows the texts well. They have the confidence to link this evidence back to their argument re audience positioning and different aspects of the target audience.




WJEC Eduqas

Sticky Note

A new paragraph introduces a new aspect of representation, social issues and mental health. They choose to explore this through male characters and ideologies of masculinity.







Tick


Tick


Tick


Logical/secure analysis 


Excellent application of k & u


Perceptive/insightful analysis
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WJEC Eduqas

Sticky Note

For their final paragraph, this candidate introduces another aspect of representation, the issue of gender neutrality. Since this is a central theme of The Bridge in season 3, it cleverly draws together the various strands of their argument, and links the many underrepresented social groups that this set product embraces and includes.





WJEC Eduqas

Sticky Note

The example offered here touches on the idea of the preferred reading of the text, positioning audiences to be more inclusive and open-minded, though this is not developed. They imply an understanding of how different audiences may choose to take an oppositional reading, rather than be aligned with the preferred viewpoint The Bridge aligns them with. (Though this last point moves away from the audience positioning focus of the question).





WJEC Eduqas

Sticky Note

This candidate demonstrates a very good understanding of the concept behind the question which they can discuss in a sustained logical response. They know the text well and refer to specific examples throughout. Their analysis is perceptive and insightful in some places, just enough for band 5. There are some points of analysis and references to theory that are not fully explained, or elaborated upon. It is still an excellent response overall.













Tick


Tick


Tick


Logical/secure analysis 


Tick



WJEC Eduqas

Sticky Note

Direct address of question, confidently summarising the wide perspective of representations of gender roles in the set product and how audiences are aligned with traditional, patriarchal values.



WJEC Eduqas

Sticky Note

Supports their introductory assertion with specific textual evidence based on the three main male characters and how their representations have been constructed.




WJEC Eduqas

Sticky Note

Useful analysis of how mise-en-scene and the placing of the character within the frame can position audiences towards the preferred reading, aligning them with the viewpoint that Jerome does not fit in.



WJEC Eduqas

Sticky Note

Confident application of the theoretical framework, explored to inform their analysis and to support their main line of reasoning that The Returned aligns audiences with patriarchal values.







Tick
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Logical/secure analysis 


Tick


Tick


Tick


Tick


Excellent application of k & u


Tick


Perceptive/insightful analysis 


Tick


Tick


Tick


Excellent application of k & u


Tick


Tick


Tick


Tick


Tick


Tick


Tick


Perceptive/insightful analysis 



WJEC Eduqas

Sticky Note

Confident and articulate explanation of van Zoonen's theory is used to support and develop this line of reasoning as they introduce their second subject of analysis: how audiences are positioned to view the representations of women. 



WJEC Eduqas

Sticky Note

Excellent application of van Zoonen's theory here to illustrate how mise-en-scene is used to consistently place Claire's character within the domestic sphere, so that audiences are aligned with the view that the woman's place is in the home. Analysis is perceptive, detailed and informed by a detailed K&U of relevant aspects of the theoretical framework.





WJEC Eduqas

Sticky Note

Develops their analysis of this gender triangle to embrace and apply relevant aspects of the wider theoretical framework, once again to support their main argument.




WJEC Eduqas

Sticky Note

Confident and consistent application of van Zoonen's feminist theory to demonstrate how The Returned positions audiences to align with patriarchal values, now through other female characters, so developing their analysis.








2b: 15


Tick


Tick


Tick


Tick


Perceptive/insightful analysis 


Tick


Tick


Tick


Excellent application of k & u


Perceptive/insightful analysis 



WJEC Eduqas

Sticky Note

Offers a counter argument, through exploration and application of bell hooks, through close textual analysis of the set product, looking at Lucy as a more modern, progressive female character.



WJEC Eduqas

Sticky Note

Introduces a new aspect of representation, that of age, and offers some interesting and perceptive character analysis to develop and support their central argument.



WJEC Eduqas

Sticky Note

It is a lot to ask a candidate to structure a 15 mark essay in the same way as is expected in the extended response questions, but this candidate successfully rounds off and concludes their argument, by taking it back to the beginning. By doing so they demonstrate they have set out to prove what was established at the outset.




WJEC Eduqas

Sticky Note

This response has been awarded full marks. The candidate is able to apply relevant aspects of the theoretical framework to analyse the set product, and this demonstrates their excellent K&U of both theory and text. Their analysis of the set product is detailed, perceptive and fluent. They are able to sustain this through a consistent and confident line of reasoning that focuses on the question throughout. 













Principal Examiner

Sticky Note

Correct calculations, workings included.  2 Marks



Principal Examiner

Sticky Note

Correct calculations, workings included.  2 Marks








Principal Examiner

Sticky Note

Correct logo stated as Fairtrade.  1 Mark.




Principal Examiner

Sticky Note

Fair pay identified as one benefit.  Further explanation needed along with one other benefit.  1 Mark.




Principal Examiner

Sticky Note

Carbon footprint correctly identified.  Description limited and does not refer to the product having been manufactured/transported in such a way as to lower carbon emissions.  1 Marks













Principal Examiner

Sticky Note

Correct calculations, workings included.  2 Marks





Principal Examiner

Sticky Note

Correct calculations, workings included.  2 Marks









Principal Examiner

Sticky Note

Fairtrade not identified correctly as the logo shown.  0 Mark.  




Principal Examiner

Sticky Note

Reference made to fair working conditions.  Two benefits required along with a clear explanation.  1 Mark.




Principal Examiner

Sticky Note

Carbon footprint correctly identified. No reference made to the product being produced/transported to reduce carbon emissions.  1 Mark.  
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SECTION A – TELEVISION IN THE GLOBAL AGE 


Answer one question in this section. Each question is in two parts.


Tick (√) the box to indicate the option chosen.


Option 1: Life on Mars and The Bridge	


Option 2: Humans and The Returned	


Option 3: The Jinx and No Burqas Behind Bars	


Either,


Option 1: Life on Mars and The Bridge 


1.	 (a)	 Explain Henry Jenkins’ theory of fandom. Refer to Life on Mars to support your 
response.


		  [15]


	 (b)	 Explore how representations in the set episode of The Bridge may position audiences.
			   [15] 


Or,


Option 2: Humans and The Returned 


2.	 (a)	 Explain Henry Jenkins’ theory of fandom. Refer to Humans to support your response.
		  [15]


	 (b)	 Explore how representations in the set episode of The Returned may position 
audiences.	 [15]


Or,


Option 3: The Jinx and No Burqas Behind Bars 


3.	 (a)	 Explain Henry Jenkins’ theory of fandom. Refer to The Jinx to support your response.
		  [15]


	 (b)	 Explore how representations in No Burqas Behind Bars may position audiences.	 [15]
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Question 6: Thermosetting and thermoforming plastics 
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Thermosetting and thermoforming plastics 
Question or outline of question / Marking scheme 


AO Total 


6. (a)    The pictures below show a public bench manufactured from recycled plastic products. AO4 1a [1] 1 


(i)   State the name of the fixture used to assemble the public bench. [1] 
 
Only acceptable answers: Machine screw or, Self-tapping screw, Bolt, Rivet. (Do not accept nail). 
 


  


(ii)   The public bench has been manufactured from recycled HDPE (High-density polyethylene) plastic.  
State the name of a product that could have been recycled to make the public bench. [1] 
 
For example: milk bottles, carrier bags, cleaning product containers, toys, dustbins/wheelie bins, 
plastic chairs/slides, detergent bottles. 
 
Credit any other appropriate response. 
 


AO4 1b [1]  1 


(iii)   Explain why HDPE is an appropriate plastic to use in the manufacture of the public bench. [2] 
 
Up to 2 marks can be awarded for a clear explanation as to why HDPE is appropriate.   
 
For example: 
 
HDPE is a very hard-wearing plastic that does not break down under exposure to sunlight or sudden 
temperature changes.  
or 
HDPE is both recyclable and reusable/remoulded and is the best plastic to use when manufacturing 
products that need to be durable and weather resistant. 
 
Credit any suitable material property. 
 
Credit any other appropriate response. 
 


AO4 2b [2] 2 
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Thermosetting and thermoforming plastics 
Question or outline of question / Marking scheme 


AO Total 


(iv)   The image below shows a machine used to create holes in the public bench. 
State the name of the machine. [1] 
 
Only acceptable answer is Pillar Drill/Drilling Machine/Press Drill. 
 


AO4 2c [1] 1 


(v)   The picture below shows the leg of the public bench assembled. Describe the joining process.  [4] 
 
Award up to 4 marks for answers that demonstrate a clear understanding of the stages needed to 
join the leg of the public bench. Responses given by the candidate may relate to answer provided in 
6(a)(i). 
 
Responses could be based on: 
1. Place both the uprights and the cross section together and mark the holes (1) 
2. Drill a clearance hole in the upright section (1) 
3. Allowing a small tolerance (1) 
4. Drill a pilot hole in the cross section (1) 
5. Place the sections together to check holes are correct. (1) 
6. Countersink the top of the clearance hole (1) 
7. Insert fixing and tighten up the joint (1) 
 
Alternative response could be based on: 
1. Place both uprights and the cross section together and mark the holes (1) 
2. Drill a clearance hole in the upright section (1) 
3. Drill a pilot hole in the upright section (1) 
4. Countersink/Drill the top of the clearance hole for screw/bolt (1) 
5. Place the sections together to check alignment and clamp together with a vice/clamp (1) 
6. Insert fixing and tighten up the joint with an appropriate tool [Screwdriver, Spanner] (1) 
 
Note: any mention of tolerances (1), suitable drill bit sizes (1), suitable fixing sizes e.g. M6-8 (1), 
self-tapping screw (1), setting depth (1) and quality checks can be awarded marks. 
 
Credit any other appropriate response. 


AO4 2c [4] 4 
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(b)  5 A retailer tracked the sales of the public bench over a 4-month period. The table below displays the data 
collected. 
 


Sales (£) Month 


1 500 December 


2 500 January 


750 February 


500 March 


  


AO4 1b [3] 
AO4 1c [2] 


5 


(i)   In the space below, draw and label a bar chart showing the sales data found in the table above. [3] 
 
Award marks for accuracy of bar chart and correct labelling. 
 
Accurate axis labelling (1) 
Accurate scaling (1) 
Accurate drawing of bars (1) 
 


 
 
Credit any appropriate approach. 


  


0
500


1000
1500
2000
2500
3000


Sa
le


s


Month


Bar chart of sales







 


© WJEC CBAC Ltd. 52 


Q 


S
c
ie


n
c
e


 


M
a


th
s


 


Thermosetting and thermoforming plastics 
Question or outline of question / Marking scheme 


AO Total 


(ii)   The retailer pays 20% Value Added Tax (VAT) on all sales. Calculate how much VAT will need to be 
paid for the public bench sales over the 4-month period. 
Show all workings. [2] 
 
Calculate total sales:  £1,500 + £2,500 + £750 + £500 = £5,250 (1) 
 
Calculate VAT:  £10,250/100 x 20 = £1,050 (1) 
 
Credit any appropriate approach to calculating the 20% VAT. 
 


  


(c)   The plastic used to make the public bench comes from recycled plastics. This has an impact on our 
environment. 
 
Analyse the impact recycled plastics have on our ecological footprint. [5] 
 
Band descriptors and mark allocations 
 


 AO3 2a  5 marks 


BAND 3 


A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to analyse the ecological footprint recycling plastics has on 
the planet. There will be evidence of relevant examples and a well-developed 
logical chain of reasoning, sustained throughout. 


4-5 


BAND 2 


Answer has some coherence, demonstrating partial knowledge and 
understanding, to analyse the ecological footprint recycling plastics has on 
the planet. There will be some evidence of mostly relevant examples and a 
logical chain of reasoning, but this may not be sustained throughout.  


2-3 


BAND 1 
Answer demonstrates only basic knowledge and understanding, to analyse 
the ecological footprint recycling plastics has on the planet. There will be 
limited evidence of relevant examples or a logical chain of reasoning. 


1 


 Award 0 marks for incorrect or irrelevant answers 


 


AO3 2a [5] 5 
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Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the points identified 
below. 
 
These include: 
 
Negative: 


• The collection of discarded plastic with lots of waste not making it to the recycling centre; 


• The vehicles used for collection are heavy pollutants particularly during low-speed collections; 


• Not all plastics collected can or will be recycled. The percentage of plastics recycled is still very 
low; 


• The act of recycling creates lots of pollution, with many harmful gases created escaping into the 
atmosphere; 


• Plastics are broken down during recycling and inevitably escape in the form of micro plastics into 
the outside world and water courses. 


 
Positive: 


• Repurposing of plastic stops the whole product ending up in landfill; 


• Recycling products into ‘plastic lumber’ reduces the need to harvest natural timber; 


• Some recycled plastics can replace other resources and fossil fuels such as oil. 
 


Whilst it is preferable candidates are able to identify both positive and negative issues surrounding 
recycling plastics, some candidates may refer to recycling as only being positive and not present an 
argument about the negative issues surrounding the topic. However, should the candidate’s 
response contain plenty of detail and analytical comment about the positive aspects of recycling, 
then this should be given credit. 
 
Credit any other appropriate response.  
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(d)   Evaluate why prototyping and modelling design ideas benefit both the designer and the 
manufacturer when designing a public bench. [6] 
 
Band descriptors and mark allocations 
 


 AO3 2b  6 marks 


BAND 3 


A coherent answer demonstrating detailed, relevant knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be evidence of relevant 
examples and well-developed substantiated judgements in a response 
which is logically structured.   


5-6 


BAND 2 


Answer has some coherence, demonstrating partial knowledge and 
understanding, to evaluate why prototyping design ideas benefits both the 
designer and the manufacturer. There will be some evidence of mostly 
relevant examples and partly substantiated judgements in a response 
which is generally well structured. 


3-4 


BAND 1 


Answer demonstrates only basic knowledge and understanding, to 
evaluate why prototyping design ideas benefits both the designer and the 
manufacturer. There will be limited evidence of relevant examples or 
judgements in a response which demonstrates little structure. 


1-2 


 Award 0 marks for incorrect or irrelevant answers 


  


AO3 2b [6] 6 
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   Indicative content 
 
This content is not prescriptive, and candidates are not expected to refer to all the material identified 
below. 
 
Modelling/prototyping is when design ideas are tested or made to establish whether they are 
suitable for being developed and/or manufactured on a larger scale. 
 
Note: the disadvantages, if referred to, should reflect upon the benefits being evaluated. 
 
Advantages of prototyping/modelling: 
• Explore and test ideas to identify issues which could be costly if manufactured without evaluation 


of success; 
• Gives opportunities to test and get feedback from clients to ensure manufacturing what they 


want; 
• Opportunities to discuss implementation problems with manufacturing plant; 
• Ability to manipulate design ideas which is not always possible with paper drawings; 
• Saves designers wasting time following a design idea that won’t work; 
• Is tangible – the aesthetic of the product can be seen; 
• Can be used in user trails and user research. 
 
Disadvantages of prototyping/modelling: 
• Designers can easily make assumptions about how accurately a model represents reality; 
• It may not work/function like the final product needs to; 
• Might not be made of the same material – so won’t reflect fully the function/purpose/aesthetic of 


the end product; 
• Time consuming to make; 
• Skill needed to produce accurately; 
• Can be costly (prototypes). 
 
Credit any other appropriate response.  


  


    Total 25 
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6.	 Thermosetting and thermoforming plastics


	 (a)	 The pictures below show a public bench manufactured from recycled plastic products.


	 (i)	 State the name of a fixture used to assemble the public bench.   	 [1]


	


	 (ii)	 The public bench has been manufactured from recycled HDPE (High-density 
polyethylene) plastic.


		  State the name of a product that could have been recycled to make the public 
bench. 	 [1]


	


	 (iii)	 Explain why HDPE is an appropriate plastic to use in the manufacture of the 
public bench. 	 [2]
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	 (iv)	 The image below shows a machine used to create holes in the public bench.


		  State the name of the machine.	 [1]


	


	 (v)	 The picture below shows the leg of the public bench assembled. Describe the 
joining process. 	 [4]


Description of joining process


.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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	 (b)	 A retailer tracked the sales of the public bench over a 4-month period. The table below 
displays the data collected.


	 (i) 	 In the space below draw and label a bar chart showing the sales data found in the 
table above.	  [3]


Sales (£) Month


1 500 December


2 500 January


750 February


500 March


Bar chart of sales


0


500


1 000


1 500


2 000


2 500
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	 (ii)	 The retailer pays 20% Value Added Tax (VAT) on all sales. Calculate how much 
VAT will need to be paid for the public bench sales over the 4-month period. 	 [2] 


		  Show all workings.


	


	


	


	 (c)	 The plastic used to make the public bench comes from recycled plastics. This has an 
impact on our environment. 


		  Analyse the impact recycled plastics have on our ecological footprint.  	 [5]                  


	


	


	


	


	


	


	


	


	 (d)	 Evaluate why prototyping and modelling design ideas benefit both the designer and the 
manufacturer when designing a public bench.	 [6]


	


	


	


	


	


	


	


	


	





















































































Section B – Magazines: Mainstream and Alternative Media 


4. Evaluate the strengths and weaknesses of semiotic approaches to magazine
analysis.
Refer to Roland Barthes’ theory of semiotics and the set editions of Woman and
Adbusters in your response. [30] 


5. Evaluate the strengths and weaknesses of semiotic approaches to magazine
analysis.
Refer to Roland Barthes’ theory of semiotics and the set editions of Woman’s Realm
and Huck in your response. [30] 


6. Evaluate the strengths and weaknesses of semiotic approaches to magazine
analysis.
Refer to Roland Barthes’ theory of semiotics and the set editions of Vogue and The
Big Issue in your response. [30] 


Band 


AO1 1a and b 
Demonstrate knowledge and 


understanding of the theoretical 
framework of media 


AO2 2 
Apply knowledge and 
understanding of the 


theoretical framework of media 
to evaluate academic theories 


5 


13-15 marks


• Excellent knowledge and
understanding of relevant aspects
of the theoretical framework.


• Discussion of the set magazine
products is perceptive, insightful,
and critically informed by a
detailed knowledge and
understanding of semiotic theory.


13-15 marks


• Excellent application of
knowledge and understanding
of the theoretical framework to
evaluate semiotic theory.


• Evaluation is insightful,
thorough and critically
informed.


• Arguments regarding the
strengths and weaknesses of
semiotic theory are fully
supported with detailed
reference to specific aspects
of the set products.


4 


10-12 marks


• Good knowledge and
understanding of relevant aspects
of the theoretical framework.


• Discussion of the set magazine
products is logical, coherent, and
informed by a secure knowledge
and understanding of semiotic
theory.


10-12 marks


• Good application of
knowledge and understanding
of the theoretical framework to
evaluate semiotic theory.


• Evaluation is logical.


• Arguments regarding the
strengths and weaknesses of
semiotic theory are well
supported with reference to
relevant aspects of the set
products.







3 


7-9 marks


• Satisfactory knowledge and
understanding of relevant aspects
of the theoretical framework.


• Discussion of the set magazine
products is reasonable and
straightforward, demonstrating a
generally sound knowledge and
understanding of semiotic theory.


7-9 marks


• Satisfactory application of
knowledge and understanding
of the theoretical framework to
evaluate semiotic theory.


• Evaluation is reasonable and
straightforward, although
there may be a tendency to
apply rather than evaluate
semiotic theory.


• Arguments will be supported
with some appropriate
reference to relevant aspects
of the set products.


2 


4-6 marks


• Basic knowledge and
understanding of relevant aspects
of the theoretical framework.


• Discussion of the set magazine
products is undeveloped,
demonstrating a partial knowledge
and understanding of semiotic
theory. There may be a tendency
to simply describe.


4-6 marks


• Basic application of
knowledge and understanding
of the theoretical framework to
evaluate semiotic theory.


• Description is likely to
displace evaluation and there
may be a tendency to simply
describe features of the set
products.


• Arguments are undeveloped
and only partially supported
by reference to the set
products.


1 


1-3 marks


• Minimal, if any, knowledge and
understanding of relevant aspects
of the theoretical framework.


• Discussion of the set magazine
products is superficial and
generalised, demonstrating little or
no knowledge and understanding
of semiotic theory.


1-3 marks


• Minimal application of
knowledge and understanding
of the theoretical framework to
evaluate semiotic theory.


• Minimal, if any, evaluation.


• Any conclusions drawn are
superficial, generalised and
lacking supporting evidence
from the set products


0 marks 


• Response not worthy of credit.












Tick


Tick


Reasonable/straightforward evaluation


Tick


Tick


Satisfactory k & u


Tick


Tick


Tick


Tick


Tick


Tick


Tick


Logical/coherent ref. to set product


Tendency to apply, not evaluate



WJEC Eduqas

Sticky Note

Addresses the question with a straightforward evaluation. This reveals that this candidate clearly understands that  semiotic theory refers to a process of signification to convey meanings and ideologies.



WJEC Eduqas

Sticky Note

Close textual analysis of the set product with a degree of detail, applying Barthes codes with confidence. 



WJEC Eduqas

Sticky Note

The candidate clearly has a good detailed knowledge of the different pages of the set product and its historical context. They are able to draw on the wider theoretical framework as well as relevant semiotic features for analysis, such as gesture codes and facial expression. But rather than evaluate the strengths of the semiotic approach, which are implied here, they apply Barthes theory instead.








Tick


Tick


Tick


Tick


Tick


Tick


Tick


Tendency to apply, not evaluate


Doesn't answer Q


Logical/coherent ref. to set product



WJEC Eduqas

Sticky Note

Good analysis with logical coherent reference to the second set product, and a close attention to detail that is required for band 4. But the candidate is not addressing the question, to evaluate the strengths and weaknesses of semiotic theory. 



WJEC Eduqas

Sticky Note

Good use of media specific terminology, and confident discussion of relevant features, but again the theory is applied rather than evaluated. In applying the theory, there is an implicit knowledge of how useful semiotics can be to unravel meanings, but the evaluation must be explicit to achieve band 4 marks.



WJEC Eduqas

Sticky Note

Good contextual knowledge and secure understanding of some of the issues of representation here, but they are not used to answer the question, therefore cannot be credited.



WJEC Eduqas

Sticky Note

Good, logical coherent reference is made to the set product, but does not use the material to answer the question. (They  could have developed their discussion of Barthes' theory to explore the construction of particular myths of femininity, how the repetition of certain messages can come to seem self evident, and achieve the status of myth through a process of naturalisation).








Tick


Tick


Tendancy to apply, not evaluate


Tick


Tick


Tick


Reasonable/straightforward evaluation


Satisfactory k & u  


Reasonable/straightforward evaluation


Tendency to apply, not evaluate


Logical/coherent ref. to set product


4:17



WJEC Eduqas

Sticky Note

This too could be linked to the semiotic idea of myth and its naturalisation, which is useful to our understanding of the power of dominant ideologies.



WJEC Eduqas

Sticky Note

Good analysis and a good understanding, but does not weigh up how semiotics helps us to understand the underlying meanings and significance of the text. There are some good arguments, and the candidate applies semiotics but does not evaluate the usefulness or the limitations of the theory.




WJEC Eduqas

Sticky Note

The conclusion is reasonable, and tries to address the question in the last few lines, with some brief evaluative comments. They  identify a strength of semiotic theory in deconstructing a text to uncover deeper meanings; they make a valid point of weakness which is its subjectivity, but this point is not explored any further. 




WJEC Eduqas

Sticky Note

There is a lot of material worthy of band 4 in this essay. This candidate has a secure understanding of semiotics, the wider theoretical framework and a good knowledge of both set products. There is, however, not enough explicit engagement with the question for a band 4 mark. The tendency to apply semiotic theory rather than evaluate it means that overall, they can only be awarded a high band 3 mark: a satisfactory understanding.













Tick


Tick


Tick


Tick


Reasonable/straightforward evaluation


Tick


Tick


Tick


Satisfactory k & u


Reasonable/straightforward ref. to set product


Reasonable/straightforward ref. to set product



WJEC Eduqas

Sticky Note

This introduction shows that the candidate understands what semiotics is, at least in part, and that they are able to use some of its terminology.



WJEC Eduqas

Sticky Note

Reveals a very narrow understanding of Barthes' theory, but it is still relevant. Discussion is generalised and undeveloped, but there is a straightforward evaluation here, even if the argument is flawed.




WJEC Eduqas

Sticky Note

A general point about encoding messages using appropriate terminology. This shows a satisfactory understanding of some of  the processes of signification.




WJEC Eduqas

Sticky Note

An understanding of the purpose of the set product, despite being awkwardly expressed.



WJEC Eduqas

Sticky Note

This discussion is undeveloped. It is not clear what they mean by plausibility and realistic nature of the magazine here, but it does form part of an attempt to evaluate the theory, and so to address the question.







Tick


Tick


Tick


Tick


Tick


Reasonable/straightforward evaluation


Tick


Tick


Arguments supported with some ref to set products


Tick


Reasonable/straightforward evaluation


Ar


guments supported with some ref to set products


Reasonable/straightforward ref. to set product


Reasonable/straightforward evaluation


Satisfactory k & u


4: 14



WJEC Eduqas

Sticky Note

This candidate makes a valid point evaluating the way semiotics can help us to unpack meaning,  to make what is implied explicit, and how we can articulate inferred meanings. Their argument is supported by some reference to the set product, even though it is very under developed.




WJEC Eduqas

Sticky Note

Another simple yet straightforward evaluation to answer the question.



WJEC Eduqas

Sticky Note

This conclusion is both brief and underdeveloped, but it does attempt to engage with the question, even if we may not agree with the validity of its argument.



WJEC Eduqas

Sticky Note

Limited, undeveloped reference to Adbusters.



WJEC Eduqas

Sticky Note

Quite a lot of this essay fits the grade descriptors of band 2: discussion of the set  products lacks development, arguments are only partially supported, for example. But the candidate clearly shows a cursory understanding of what semiotics is, and what the theory can do. They are able to make some valid points evaluating the effectiveness of the theory, and consistently engage with the question. There is just enough satisfactory evidence to tip them into lower band 3.














Tick


Tick


Good k & u


Tick



WJEC Eduqas

Sticky Note

Direct address of question.



WJEC Eduqas

Sticky Note

Clear explanation of one aspect of Barthes theory.



WJEC Eduqas

Sticky Note

Candidate adds examples to their explanation, applying the theory to show what these terms mean and their effect. These elements demonstrate a good knowledge and understanding of some relevant aspects of semiotic theory.








Tick


Tick


Tick


Tick


Tick


Tick


Arguments well supported with ref to set products


Excellent k & u  


Tick


Tick Tick


Tick


Perceptive/insightful ref. to set product


Tick


Tick


Tick


Logical/coherent ref. to set product


Logical evaluation


Tick



WJEC Eduqas

Sticky Note

Logical and coherent reference to the set product, applying semiotic theory.



WJEC Eduqas

Sticky Note

Begins to evaluate the effect of using semiotic theory to facilitate textual analysis to gain a better understanding of the processes of signification, substantiated with detailed examples.





WJEC Eduqas

Sticky Note

Introduces and explains a further useful aspect of Barthes theory' to develop their evaluation.



WJEC Eduqas

Sticky Note

Explores what the process of naturalisation means through analysis of a specific example. Clear understanding and perceptive insight into the set product, The Big Issue.




WJEC Eduqas

Sticky Note

Extends their evaluation of the strengths of semiotic theory by applying their analysis to the second set product, Vogue.




WJEC Eduqas

Sticky Note

A new paragraph begins to identify potential weaknesses in semiotics. Clear, confident direct address of question.








Tick


Tick


Tick


Logical evaluation


Tick


Tick


Insightful/thorough/critically informed evaluation


Tick


Tick


Insightful/thorough/critically informed evaluation


Tick


Tick


Tick


Tick


Arguments fully supported with detailed ref to set products


Tick



WJEC Eduqas

Sticky Note

A good understanding of the magazine's set pages, and the wider function, purpose and context of the set product.




WJEC Eduqas

Sticky Note

Successfully makes the point that, by focusing just on the text itself, semiotic theory fails to take into account the relevance of various contextual factors.




WJEC Eduqas

Sticky Note

In order to illustrate this limitation of semiotics, this candidate offers useful and instructive comparison with other critical theories, such as structuralism, and how Barthes theory in combination with binary opposites can be more effective as tools of analysis.



WJEC Eduqas

Sticky Note

To illustrate what they mean by the combination of both theories, this candidate explores the set products in a detailed and fluent way.







6: 30


Tick


Tick


Tick


Perceptive/insightful ref. to set product


Tick


Tick


Tick


Tick


Perceptive/insightful ref. to set product


Excellent k & u  


Tick


Excellent k & u  


Perceptive/insightful ref. to set productInsightful/thorough/critically informed evaluation


Arguments fully supported with detailed ref to set products



WJEC Eduqas

Sticky Note

Excellent application of other aspects of the theoretical framework, looking at other tools of analysis to illustrate some of the deficiencies of semiotics. 



WJEC Eduqas

Sticky Note

Each point is anchored in a textual example from the set product, so that arguments are fully supported with detailed reference to specific aspects of both magazines. 




WJEC Eduqas

Sticky Note

Although this concluding statement is brief, it directly answers the exam question and summarises the line of reasoning this candidate has conducted and sustained throughout their essay. 



WJEC Eduqas

Sticky Note

In order to achieve the highest marks in an extended response question, a response must develop a sustained line of reasoning which is coherent, relevant substantiated and logically structured. The way in which the candidate engages with the question to evaluate, explore and apply semiotic theory through detailed and logical references to the set products is impressive.  Excellent application of various aspects of the theoretical framework is used to evaluate some of the limitations of semiotic theory. Arguments are fully supported with detailed reference to both magazines. This response has been awarded full marks.













Principal Examiner

Sticky Note

Clarity of answer doesn't meet the requirement of the mark scheme.  0 Marks.



Principal Examiner

Sticky Note

Cam and follower correctly identified.  2 Marks.







Principal Examiner

Sticky Note

Incorrect description of the motion of a pear Cam.  A pear-shaped Cam creates a sudden rise and fall, followed by a long period where the follower does not move.  0 Marks.



Principal Examiner

Sticky Note

Load and effort correctly labelled.  2 Marks.



Principal Examiner

Sticky Note

Reference made to a reduction in landfill and reusing (aluminum) products.  Lacks a range of benefits.  2 Marks.












Principal Examiner

Sticky Note

Incorrect response. 0 Marks.



Principal Examiner

Sticky Note

Incorrect labelling.  0 Marks.







Principal Examiner

Sticky Note

Incorrect description of the motion of a pear Cam.  A pear-shaped Cam creates a sudden rise and fall, followed by a long period where the follower does not move.  0 Marks.



Principal Examiner

Sticky Note

Correct Labelling.  2 Marks.



Principal Examiner

Sticky Note

Response lacks analysis or justification.  Recycling means cans don't end up in landfill.  Recycling reduces pollution/emissions.  1 Mark.
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SECTION B – MAGAZINES: MAINSTREAM AND ALTERNATIVE MEDIA 


Answer one question in this section.


Tick (√) the box to indicate the option chosen.


Option 1: Woman and Adbusters 	


Option 2: Woman’s Realm and Huck	


Option 3: Vogue and The Big Issue	


Either,


Option 1: Woman and Adbusters  


4.	 Evaluate the strengths and weaknesses of semiotic approaches to magazine analysis.


	 Refer to Roland Barthes’ theory of semiotics and the set editions of Woman and Adbusters in 
your response.	 [30] 


Or,


Option 2: Woman’s Realm and Huck


5.	 Evaluate the strengths and weaknesses of semiotic approaches to magazine analysis.


	 Refer to Roland Barthes’ theory of semiotics and the set editions of Woman’s Realm and Huck 
in your response.	 [30] 


Or, 


Option 3: Vogue and The Big Issue  


6.	 Evaluate the strengths and weaknesses of semiotic approaches to magazine analysis.


	 Refer to Roland Barthes’ theory of semiotics and the set editions of Vogue and The Big Issue 
in your response.	 [30] 





































































































Section C – Media in the Online Age 


7. How much influence do economic factors have on online media products?
Refer to PointlessBlog /Alfie Deyes and gal-dem in your response. [30] 


8. How much influence do economic factors have on online media products?
Refer to Zoella /Zoe Sugg and the Attitude website in your response. [30] 


Band 


AO1 2a and 2b 
Demonstrate knowledge and 
understanding of contexts of 
media and their influence on 


media products and processes 


AO2 3 
Apply knowledge and 


understanding of the theoretical 
framework of media to make 


judgements and draw 
conclusions 


5 


13-15 marks


• Excellent knowledge and
understanding of the influence
of contextual factors on online
media products


• Discussion of the influence of
economic factors on the set
online products is perceptive
and insightful


• A detailed understanding of
relevant economic factors is
shown


13-15 marks


• Excellent application of
knowledge and understanding
of the theoretical framework to
make judgements and draw
conclusions.


• Judgements and conclusions
are perceptive, insightful and
fully supported with detailed
reference to specific aspects of
the set products.


4 


10-12 marks


• Good knowledge and
understanding of the influence
of contextual factors on online
media products


• Discussion of the influence of
economic factors on the set
online products is logical


• A secure understanding of the
significance of relevant
economic factors is shown


10-12 marks


• Good application of knowledge
and understanding of the
theoretical framework to make
judgements and draw
conclusions.


• Judgements and conclusions
are logical, coherent and well
supported with reference to
relevant aspects of the set
products.


3 


7-9 marks


• Satisfactory knowledge and
understanding of the influence
of contextual factors on online
media products


• Discussion of the influence of
economic factors on the set
online products is generally
sound


• A reasonable understanding of
the significance of relevant
economic factors is shown


7-9 marks


• Satisfactory application of
knowledge and understanding
of the theoretical framework to
make judgements and draw
conclusions.


• Judgements and conclusions
are reasonable and supported
in a straightforward manner with
some reference to relevant
aspects of the set products.







2 


4-6 marks


• Basic knowledge and
understanding of the influence
of contextual factors on online
media products


• Discussion of the influence of
economic factors on the set
online products is undeveloped


• A basic understanding of
economic factors is shown


4-6 marks


• Basic application of knowledge
and understanding of the
theoretical framework to make
judgements and draw
conclusions.


• Basic judgements are made,
and some conclusions are
drawn, but these are
undeveloped and only partially
supported by relevant examples
from the set products.


1 


1-3 marks


• Minimal knowledge and
understanding of the influence
of contextual factors on online
media products


• Any discussion of the influence
of economic factors on the set
online products is superficial
and generalised


• A very limited understanding of
economic factors is shown


1-3 marks


• Minimal application of
knowledge and understanding
of the theoretical framework to
make judgements and draw
conclusions.


• Any conclusions drawn are
superficial, generalised and
lacking supporting evidence
from the set products.


0 marks 


• Response not worthy of credit.












Tick


Tick


Tick


Reasonable/straightforward judgements & conclusions


Tick


Tick


Satisfactory k & u


Generally sound discussion



WJEC Eduqas

Sticky Note

They hint toward the effect of other influential factors that also may be considered; both arguments are undeveloped at this stage.



WJEC Eduqas

Sticky Note

Addresses the question directly and demonstrates a clear understanding that economic factors relate to making money.



WJEC Eduqas

Sticky Note

Links back to the question well, but without further development to support their argument, so a straightforward judgement and conclusion, rather than  a well supported one for band 4.



WJEC Eduqas

Sticky Note

Appropriate use of media specific terminology, but this could be further explained and developed by relating it more directly to the question. Perhaps they could explain how monetization works through specific examples, such as the Boots and L'Oreal examples already mentioned?




WJEC Eduqas

Sticky Note

Makes a valid point about Zoella being motivated by profits but doesn't expand any further to explain the point being made.



WJEC Eduqas

Sticky Note

Makes useful reference to an appropriate aspect of theory, with Curran and Seaton in a generally sound way, but doesn't explain how, or apply the theory any further. 



WJEC Eduqas

Sticky Note

The candidate clearly demonstrates a satisfactory K&U of the subject, mentioning relevant aspects of the  theoretical framework, and referencing some specific examples by name, but lacks development of detail.




WJEC Eduqas

Sticky Note

 This introduction, although very brief, suggests a confident knowledge and understanding of the subject, a potentially good response. 



WJEC Eduqas

Sticky Note

This candidate engages explicitly with the 'to what extent'  aspect of the question, and starts to establish an argument. 



WJEC Eduqas

Sticky Note

Offers two specific examples of companies advertising through Zoella, but doesn't develop any further detail - what products, how promoted or endorsed, and in what ways?



WJEC Eduqas

Sticky Note

Explicitly engages with the question for a new paragraph on the second set product.







Tick


Tick


Tick Tick


Satisfactory k & u


Basic/undeveloped/only partially supported judgements & conclusions


Tick


Reasonable/straightforward judgements & conclusions



WJEC Eduqas

Sticky Note

Some satisfactory awareness of international editions of the magazine, but undeveloped.



WJEC Eduqas

Sticky Note

A good understanding of the target audience in terms of demographics and pyschographics, but it is not developed and or explained, and therefore is only partially supported.



WJEC Eduqas

Sticky Note

Overall, there are only a few basic points made about Attitude magazine in this paragraph, and limited reference to their digital set product.



WJEC Eduqas

Sticky Note

Some good points supported by good relevant examples here, but they are not developed or explained. There is a little more application of theory, with a generally sound counter-argument.  Therefore, reasonable and straightforward judgements and conclusions, for band 3.



WJEC Eduqas

Sticky Note

Potentially some good, specified examples, but they are not developed.



WJEC Eduqas

Sticky Note

This could be applied in a much more useful way to explore and apply Hesmondhalgh, maximising profit through referencing the type of products and companies that Attitude attracts, explicitly targeting their niche audience, for example).







8: 18


Tick


Tick


Tick


Tick


Reasonable/straightforward judgements & conclusions


Satisfactory k & u  


Tick


Tick


Tick


Reasonable/straightforward judgements & conclusions


Satisfactory k & u  


Generally sound discussion


Reasonable/straightforward judgements & conclusions


Tick



WJEC Eduqas

Sticky Note

Evidence of some good factual knowledge and understanding here, explicitly engaging with the question with some factual evidence to support the points being made. There are some general examples given, rather than specific ones; "numerous adverts" are mentioned but not developed.



WJEC Eduqas

Sticky Note

Appropriate reference made to Curran & Seaton's logic of profit and power theory, with some brief, undeveloped evidence used to support their point, drawing reasonable straightforward judgements and conclusions.



WJEC Eduqas

Sticky Note

Explicitly engaging with the "to what extent" aspect of question for their concluding paragraph.



WJEC Eduqas

Sticky Note

Benefit of the doubt given here: the candidate means monetized, not demonetized, and probably made this error under pressure of time, at the end of the exam. 



WJEC Eduqas

Sticky Note

Tendency to repeat the points previously made in the penultimate two paragraphs, without expanding them any further. 



WJEC Eduqas

Sticky Note

Overall, this candidate demonstrates a good understanding of the topic, the set products, and the relevant theoretical framework. They engage explicitly with the question and their response, though brief, is fairly well structured. However, the valid points they make tend to be more generalised, straightforward and undeveloped. The candidate doesn't expand upon or explain their points and they are not backed up by evidence from set products. 



WJEC Eduqas

Sticky Note

Therefore this is a good example of a high band 3 response, showing a satisfactory K&U through a generally sound discussion.  












Tick


Tick


Reasonable/straightforward judgements & conclusions


Basic understanding 


Superficial/generalised discussion



WJEC Eduqas

Sticky Note

This very brief introduction does not demonstrate any understanding of the question.



WJEC Eduqas

Sticky Note

Here the candidate shows that they understand that economic factors relate to money.



WJEC Eduqas

Sticky Note

Demonstrates a basic but also reasonable understanding that online media can be less costly in some ways for producers and offer more accessibility to consumers.




WJEC Eduqas

Sticky Note

This paragraph starts well but quickly loses focus, with a superficial/generalised discussion, typical of band 1, rather than naming the Girl OnLine books, youtube channels and without discussing the diversification of even more media forms that could generate more income. 




WJEC Eduqas

Sticky Note

Here they consider costs and outlay, rather than profit motives and ways of actually making money, which shows a more basic understanding (band 2).




WJEC Eduqas

Sticky Note

This reveals only a partial knowledge of the set product, because Attitude has a print magazine as well.








Superficial/generalised discussion


Tick


Basic understanding 


Basic k & u  


Basic understanding 


Undeveloped discussion


Basic/undeveloped/only partially supported judgements & conclusions



WJEC Eduqas

Sticky Note

Again, this candidate focuses on costs rather than how online media can generate income in different ways and even be fairly lucrative. They are attempting to address the question, but in a superficial way.





WJEC Eduqas

Sticky Note

Here the candidate demonstrates their K&U of how different online media forms can be linked to promote each other to enhance profits. So they are beginning to discuss hyper-modality, but their valid point is very general and undeveloped - overall it is basic and only partially supported.




WJEC Eduqas

Sticky Note

There is no conclusion, the essay just stops. This is characteristic of an undeveloped discussion lacking structure.



WJEC Eduqas

Sticky Note

Overall, there is just enough basic knowledge and understanding to merit a low band 2 mark. The candidate does attempt to address the question, but discussion is brief, limited and undeveloped. It is only partially supported with mainly general reference to the set products.












